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1.0 GENERAL INFORMATION
1.7 PROGRAM ABSTRACT

THIS DCLT (DATA COMMUNICATION LINK TEST) PROGRAM IS MEANT TO
PROVIDE FIELD SERVICE WITH A TOOL TO MAINTAIN DPV=11 TO
DPV=11 COMMUNICATION LINKS. THIS DCLT PROGRAM WILL PROVIDE
THE COVERAGE NECESSARY TO DETECT FAILURES TO THE COMPUTER
EQUIPMENT, THE COMMUNICATION LINK, OR THE MODEM.

THIS DIAGNOSTIC HAS BEEN WRITTEN FOR USE WITH THE DIAGNOSTIC
RUNTIME SERVICES SOF TWARE (SUPERVISOR). THESE SERVICES PROVIDE
THE INTERFACE TO THE OPERATOR AND TO THE SOF TWARE ENVIRONMENT.
THIS PROGRAM CAN BE USED WITH XXDP+, ACT, APT, SLIDE AND PAPER
TAPE. FOR A COMPLETE DESCRIPTION OF THE RUNTIME SERVICES, REFER
TO THE XXDP+ USER'S MANUAL (CHQUS?.SEQ WHERE ? IS REV. LEVEL OF
THE MANUAL). THERE IS A BRIEF DESCRIPTION OF

THE RUNTIME SERVICES IN SECTION 2 OF THIS DOCUMENT.

1.2  SYSTEM REQUIREMENTS

IN ORDER TC RUN IHE DPV DCLT PROGRAM, THE FOLLOWING
MINIMUM HARDWARE IS REQUIRED:

A LSI-11 CPU

MINIMUM OF 24K WORDS OF MEMORY

A WORKING CLOCK

A CONSOLE TERMINAL

ANY XXDP+ SUPPORTED LOAD MEDIA

ONE JF THESE DPV=11 CONFIGURATIONS:

DPV11-DB
DPV11-DA

b

.3 RELATED DOCUMENTS AND STANDARDS

XXDP+ USER'S MANUAL (CHQUS?.SEQ WHERE ? IS THE REV. LEVEL OF
THE MANUAL - "'C"'" IS THE CURRENT REV.).

SEQ 0005
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1.4 DIAGNOSTIC HIERARCY PREREQUISITES

THE GOAL OF THE DATA COMM. LINK TEST PROGRAM IS TO TEST THE
COMMUNICATION LINK AND THEREFORE ASSUMES THAT THE CPU'S,
éEgﬁK?és??g DVP=11'S AT EACH END OF THE LINK HAVE A_LREADY

IF A WORKING CLOCK IS NOT FOUND, THE PROGRAM WILL CONTINUE

BUT ANY OF THE PROGRAM THAT TIMES THE DEVICE WILL HANG IF THE
DEVICE TIMES OUT. ALSO, THE EVENT LOG WILL CONTAIN A ZERC EVENT
TIME FOR ALL EVENTS LOGGED.

IT IS NOT THE INTENTION OF A DATA COMM. LINK TEST PROGRAM TO
TEST THE DPV=-11'S, BUT TO TEST THE COMMUNICATION LINK TO
WHICH THEY ARE CONNECTED.

SOME OF THE DIAGNOSTICS THAT COULD BE RUN [F EITHER OF THE DPV=11°'S
LOCK BAD:

CVDPVXX DPV=11 FCTNL DIAG
CXDPVXX DPV=11 DECX MODULE
XX= LATEST REVISION

1.5 ASSUMPTIONS = RESTRICTIONS

IT 1S ASSUMED THAT THE COMMUNICATIONS DEVICE (A DPV=11) HAS

BEEN TESTED USING THE PREREQUISTE DIAGNOSTICS. THE OPERATOR

SHOULD HAVE READ THE USER DOCUMENTATION PORTION OF THE LISTING

TO FAMILIARIZE HIMSELF WITH THE COMMANDS AND CAPABILITIES AVAILABLE
UNDER THE DIAGNOSTIC SUPERVISOR AND DCLT.

THIS DIAGNOSTIC DOES NOT RUN THE DPV IN BIT STUFF MODE
IT IS ASSUMED THAT IF THE LINK WORKS IN CHAR MODE THE LINK
WILL WORK IN BIT STUFF MODE.

THE DPV11 IS NOT A DMA DEVICE AND THUS MUST RELY ON THE
SOF TWARE FOR SERVICE. THEREFORE THIS DCLT WILL NOT RUM
WITH THE DPV AT ITS HIGH CLOCK SPEED OF 50KHZ.

SEQ 0006
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2.0 OPERATING INSTRUCTIONS
THIS SECTION CONTAINS A BRIEF DESCRIPTION OF THE RUNTIME SERVICES.
FOR DETAILED INFORMATION, REFER TO THE XXDP+ USER'S MANUAL (CHQUS).
2.1 COMMANDS
THERE ARE ELEVEN LEGAL COMMANDS FOR.THE DIAGNOSTIC RUNTIME SERVICES

(SUPERVISOR). THIS SECTION LISTS THE COMMANDS AND GIVES A VERY
BRIEF DESCRIPTION OF THEM. THE XXDP+ USER'S MANUAL HAS MORE DETAILS.

| COMMAND EFFECT

START START THE DIAGNOSTIC FROM AN INITIAL STATE

RESTART START THE DIAGNOSTIC WITHOUT INITIALIZING

CONT INUE CONTINUE AT TEST THAT WAS INTERRUPTED (AFTER “C)

PROCEED CONTINUE FROM AN ERROR HALT

EXIT RETURN TO XXDP+ MONITOR (XXDP+ OPERATION ONLY!')

ADD ACTIVATE A UNIT FOR TESTING (ALL UNITS ARE
CONSIDERED TO BE ACTIVE AT START TIME

DROP DEACTIVATE A UNIT

PRINT PRINT STATISTICAL INFORMATION (IF IMPLEMENTED
BY THE DIAGNOSTIC - SECTION 4.0)

DISPLAY TYPE A LIST OF ALL DEVICE INFORMATION

FLAGS TYPE THE STATE OF ALL FLAGS (SEE SECTION 2.3)

ZFLAGS CLEAR ALL FLAGS (SEE SECTION 2.3)

A COMMAND CAN BE RECOGNIZED BY THE FIRST THREE CHARACTERS. SO
YOU MAY, FOR EXAMPLE, TYPE ''STA'' INSTEAD OF ‘'START'',

O SWITCHES

THERE ARE SEVERAL SWITCHES WH CH ARE USEC TO MODIFY SUPERVISOR OPERATION.
THESE SWITCHES ARE APPENDED TO THE LEGAL COMMANDS. ALL OF THE LEGAL
SWITCHES ARE TABULATED BELOW WITH A BRIEF DESCRIPTION OF EACH.

IN THE DESCRIPTIONS BELOW, A DECIMAL NUMBER IS DESIGNATED BY 'DDDDD'.

SWITCH EFFECT
/TESTS:LIST EXECUTE ONLY THOSE TESTS SPECIFIED IN

THE LIST. LIST IS A STRING OF TEST

NUMBERS, FOR EXAMPLE - /TESTS:1:5:7-10,

THIS LIST WILL CAUSE TESTS 1.5,7,.8,9.10 TO

BE RUN. ALL OTHER TESTS WILL NOT BE RUN.
/PASS :DDDDD EXECUTE DDDDD PASSES (DDDDD = ! TO 64000)
/FLAGS:FLGS SET SPECIFIED FLAGS. FLAGS ARE DESCRIBED

IN SECTION 2.3.
/EOP:DDDDD REPORT END OF PASS MESSAGE AFTER EVERY

DDDDD PASSES ONLY. (DDDDD = 1 TO 64000)
JUNITS:LIST TEST/ADD/DROP ONLY THOSE UNITS SPECIFIED

IN THE LIST. LIST EXAMPLE = /UNITS:0:5:10-12

USE UNITS 0,5.10,11,12 (UNIT NUMBERS = (C-63)
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EXAMPLE OF SWITCH USAGE:
START/TESTS:1-5/PASS:1000/EOP:100
THE EFFECT OF THIS COMMAND WILL BE: 1) TESTS 1 THROUGH 5 WILL BE

EXECUTED, 2) ALL UNITS WILL TESTED 1000 TIMES AND 3) TE END OF
PASS MESSAGES WILL BE PRINTED AFTER EACH 100 PASSES ONLY. A

SWITCH CAN BE RECOGNIZED BY THE FIRST THREE CHARACTERS. YOU MAY,

FOR EXAMPLE, TYPE ''/TES:1-5'" INSTEAD OF ''/TESTS:1-5"".

BELOW IS A TABLE THAT SPECIFIES WHICH SWITCHES CAN BE USED BY EACH

COMMAND .

TESTS  PASS FLAGS EOP UNITS
START X X X X X
RESTART X X X X X
CONT INUE X X K
PRCCEED X
DROP X
ADD X
PRINT
DISPLAY X
FLAGS
ZFLAGS
EXIT
2.3 FLAGS

FLAGS ARE USED TO SET UP CERTAIN OPERATIONAL PARAMETERS SUCH AS

LOOPING ON ERROR. ALL FLAGS ARE CLEARED AT STARTUP AND REMAIN

CLEARED UNTIL EXPLICITLY SET USING THE FLAGS SWITCH. FLAGS

ARE ALSO CLEARED AFTER A START COMMAND UNLESS SET USING THE
FLAG SWITCH. THE ZFLAGS COMMAND MAY ALSO BE USED TO CLEAR

ALL FLAGS. WITH THE EXCEPTION OF THE START AND ZFLAGS COMMANDS,
NO COMMANDS AFFECT THE STATE OF THE FLAGS: THEY REMAIN SET OR
CLEARED AS SPECIFIED BY THE LAST FLAG SWITCH.

FLAG EFFECT

HOE HALT ON ERROR = CONTROL IS RETURNED TO
RUNTIME SERVICES COMMAND MODE

LOE LOOP ON ERRCR

IER* INHIBIT ALL EPROR REPORTS

IBE* INHIBIT ALL ERROR REPORTS EXCEPT

FIRST LEVEL (FIRST LEVEL CONTAINS
ERROR TYPE, NUMBER, PC, TEST AND UNIT)

IXE* INHIBIT EXTENDED ERROR REPORTS (THOSE
CALLED BY PRINTX MACRO'S)

PRI DIRECT MESSAGES TO LINE PRINTER

PNT PRINT TEST NUMBER AS TEST EXECUTES

BOE "BELL'' ON ERROR

UAM UNATTENDED MODE (NO MANUAL INTERVENTION)

ISR INHIBIT STATISTICAL REPORTS (DOES NOT

SEQ 0008
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L APPLY TO DIAGNOSTICS WHICH DO NOT SUPPORT
| STATISTICAL REPORTING)

IDR INHIBIT PRGGRAM DROPPING OF UNITS
= ADR EXECUTE AUTODROP CODE
! LOT LOOP ON TEST
i EvL EXECUTE EVALUATION (ON DIAGNOSTICS WHICH

HAVE EVALUATION SUPPORT)
' *ERROR MESSAGES ARE DESCRIBED IN SECTION 3.1

| SEE THE XXDP+ USER'S MANUAL FOR MORE DETAILS ON FLAGS. YOU MAY
1 SPECIFY MORE THAN ONE FLAG WITH THE FLAG SWITCH. FOR EXAMPLE,
TO CAUSE THE PROGRAM TO LOOP ON ERROR, INHIBIT ERROR REPORTS
AND TYPE A "BELL'' ON ERROR, YOU MAY USE THE FOLLOWING STRING:

/FLAGS:LOE : IER:BOE

2.4 HARDWARE QUESTIONS

WHEN A DIAGNOSTIC IS STARTED, THE RUNTIME SERVICES WILL PROMPT
THE USER FOR HARDWARE INFORMATION BY TYPING ‘‘CHANGE HW (L) ?*'
YOU MUST ANSWER ''Y'' AFTER A START COMMAND UNLESS THE HARDWARE
INFORMATION HAS BEEN 'PRELOADED'' USING THE SETUP UTILITY (SEE
CHAPTER 6 OF THE XXDP+ USER'S MANUAL). WHEN YOU ANSWER THIS
QUESTION WITH A "Y', THE RUNTIME SERVICES WILL ASK FOR THE NUMBER
OF UNITS (IN DECIMAL).

THE DPV=11 DATA COMM. LINK TEST PROGRAM WILL NOT USE MORE THAN
g;JELUgéT. FOR THE DPV=11 , THE HARDWARE INFORMATION REQUESTED
¥ 2

# UNITS (D) ? 1<CR>

UNIT O

FULL DUPLEX OPERATION : (
DPV _CSR ADDRESS : (0) 160
INTERRUPT VECTOR ADDRESS:

REMOTE NODE "‘ITEP'* : (L) N

THE FULL DUPLEX QUESTION SHOULD BE ANSWERED '‘Y'' WHEN USING
FULL DUPLEX MODEMS,OR NULL MODEM, OR MODEM EL IMINATORS.
ANSWER ‘N'' FOR HALF DUPLEX MODEMS.

REMOTE NODE ITEP SHOULD BE ANSWERED ‘‘Y'' IF OTHER NODE
IS RUNNING SOF TWARE THAT IS USING '‘ITEP'® FORMATS(I.E.
COMM TURNARROUND SYSTEM OR PDP=11 RUNNING ITEP).

Y?
?

L
170
9) 300 ?

)
7
(
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2.5 DATA COMM. LINK TEST COMMANDS

THE "DCLT>'" COMMAND LEVEL FOLLOWS THE ANSWERING OF THE HARDWARE P-TABLE
?gfgé%%gb THESE COMMANDS CAN BE TYPED WHEN THE 'DCLT> (A) ?"" PROMPT

MESSAGE COMMANDS AVAILABLE:

YOU ONLY HAVE TO TYPE ENOUGH CHARACTERS TO UNIQUELY SPECIFY A COMMAND.

THE COMMAND LINE IS INTERPRETED FROM LEFT TO RIGHT. THEREFORE,

IF A QUALIFIER ON THE COMMAND LINE IS RELATFD OR EFFECTS A QUALIFIER
TO THE LEFT ON THE COMMAND LINE, THE QUALIFIER FARTHEREST TO THE RIGHT
TAKES PRECEDENCE SINCE IT IS INTERPRETED LAST. (I.E. IF /CHECK.....
.../NOCHECK APPEAR ON THE SAME LINE, NOCHECK WILL BE INDICATED IN THE
PARAMETERS WORD.)

REFER TO SECTION 6.0 FOR A DESCRIPTION OF THE DIFFERENT MODES OF
OPERATION AND THE TYPES OF MESSAGES AVAILABLE.

2.5.1 MESSAGE COMMANDS

COMMAND DESCRIPTION

CLEAR  EXPECTLIST ZEROES THE EXPECTLIST (00'S)
AND THEN PUTS DEFAULT ITEP MSG
IN SO NOT REALLY EMPTY

FILLS TRANSMITLIST (000°'S)
AND THEN PUTS DEFAULT ITEP MSG
IN SO NOT REALLY EMPTY

CLEAR  TRANSMITLIST

SET EXPECTMSG=TYPE/QUAL

WHERE: ‘'TYPE'' IS:

=0ONES

=7EROES

=1ALT

=0ALT

=]TEP

=CCITT

=ALPHA

=''A-7,0-9,SPACES Ok TABS IN QUOTES'’

WHERE THE OPTIONAL 'QUAL'’ IS:

DEFINE A MESSAGE TO BE PUT ON
THE EXPECTED LIST

SEQ 0010
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SET

SET

SHOW

SHOW

/SIZE=NNN

/COPY=NN

L1
MACY11 30A(1052) 16=JUN-81 10:00 PAGE 9-1

MAKE THE MESSAGE 'NNN'' BYTES
LONG. (DEFAULT VALUE IS
SIZE OF MESSAGE SPEC'D BY
OPERATOR OR DEFAULTS.)

COPY THIS MESSAGE INTO THE
BUFFER 'NN'' TIMES (DEFAULT
IS 0 = PUT THE MESSAGE IN
ONLY ONCE)

NOTE: SET'S ADD MESSAGES TO THE LIST IN THE ORDER THEY'RE
DEFINED. "NNN'' IS A DECIMAL NUMBER. THE FIRST SET
OVERWRITES THE DEFAULT ITEP MESSAGE PLACED THERE BY
INITIALIZATION OR A ''CLEAR'' COMMAND.

SEE SECTION 6.2 FOR A DESCRIPTION OF THE PRE-DEFINED
MESSAGES THAT ARE AVAILABLE. (ZEROS,ONES ...)

TRANSM] TMSG=TYPE /QUAL

EXPECT=TRANSMIT

EXPECTLIST

TRANSMITLIST

2.5.2 STATISTICAL COMMANDS

DUMP

SSSSSS~EEEEEE/B

WHERE ''/B'' IS OPTIONAL :
DEFAULT IS PRINT WORDS
"'/B'" CAUSES PRINT BYTES

DEFINE A MESSAGE TO BE PUT ON
THE TRANSMIT LIST
(SEE DESCRIPT FOR SET EXP)

MAKES A COPY OF THE TRANSMIT
LIST IN THE EXPECT LIST.

LISTS THE MESSAGE SIZE AND TYPE
FOR THE MESSAGES IN THE
EXPECT LIST

LISTS THE MESSAGE SIZE AND TYPE

FOR THE MESSAGES IN THE
TRANSMIT LIST

DESCRIPTION

TAKES THE OPERATOR TO THE
REPORT LEVEL °"RPT>'., FROM
HERE YOU CAN EXAMINE THE
EVENT LOG.

PRINTS THE CONTENTS OF THE
MEMORY LOCATIONS BETWEEN
OCTAL ADDRESSES ‘'‘SSSSSS'' AND
"EEEEEE'' WHERE ''SSSSSS'' IS
THE START ADDRESS AND
"'-EEEEE'' IS THE END ADDRESS.

IF "*~EEEEEE'" IS NOT SPECIFIED
THEN THE CONTENTS OF '‘SSSSSS''
IS PRINTED IN WORD FORMAT.

>EQ 0011
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2.5.3 RUN COMMAND

RUN MODE=MTYPE/QUAL

m 1
30A(1052) 16-JUN-81 10:00 PAGE 9-2

IS PRINTED IN WORD FORMAT.

NOTE: THE DUMP COMMAND IS USEFUL FOR EXAMINING

ME SSAGE

DATA. STARTING ADDRESSES CAN

BE FOUND BY LOOKING IN THE EVENT LOG.

DESCRIPTION

STARTS DCLT EXECUTING IN THE
MODE SPECIFIED

NOTE: MODE=ACTIVE IS NOT DEFAULT, A MODE=MTYPE MUST BE TYPED
----- EACH TIME A RUN IS TYPED

WHERE THE "MTYPE'' IS ANY ONE OF THE FOLLOWING:

=ACTIVE (FORCES /NOECHO ,NO LOOPING)

=PASSIVE (FORCES NO LOOPING)

=RECEIVE (FORCES /NOECHO ,NO LOOPING)

=LISTEN (FORCES /NOECHO ,NO LOOPING, /NOCHECK)
=TRANSMIT (FORCES /NOECHO ,NO LOOPING, /NOCHECK)
=TALK (FORCES /NOECHO ,NO LOOPING, /NOCHECK)

=DOWNLINELOAD  (DOWN-LINE-LOADING IS NOT SUPPORTED
FOR DPV=11 TO DPV=11 LINKS).

(FORCING NO LOOPING MEANS IT MUST BE
SPECIFIED AS A QUALIFIER ANY TIME ITS
DESIRED, THERE IS NO DEFAULT)

AND OPTIONAL "QUAL'' IS ANY COMBINATION OF THE FOLLOWING:

/CHECK/NOCHE CK ENABLES/DISABLES CHECKING OF RECEIVED
DATA AGAINST THE EXPECTED DATA

NOTE: IF BOTH NODES IN ACTIVE AND ‘‘/NOCHECK'' IS USED,

----- END-OF =PASS 1S DEFINED AS RECEIVING 1 MESSAGE
AND COMPLETING THE TRANSMIT LIST. WITH NO DATA
CHECKING, THERE IS NO WAY FOR DCLT TO KNOW HOW
MANY MESSAGES IT SHOULD EXPECT TO RECEIVE.

/STATUS/NOSTATUS ENABLES/DISABLES PRINTING OF PROGRAM
STATUS MESSAGES TO THE OPERATOR
/ECHO/NOE CHO ENABLES/DISABLES THE RETRANSMISSION OF
THE DATA RECEIVED IN PASSIVE MODE.
(IGNORED IN MODES OTHER THAN PASSIVE)
/MODEM/NOMODEM/ ENABLES/DISABLES THE REPORTING OF MODEM STATUS
INTERRUPT CHANGES.
/LOOP=LTYPE SPECIFIES WHICH, IF ANY, TYPE OF
MAINTENANCE LOOPBACK IS BEING USED.

SEQ 0012
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(IGNORED IN MODES OTHER THAN ACTIVE)
MUST BE SPECIFIED EACH TIME ELSE NO

LOOP IS USED.

"LTYPE'* IS: A

=INTERNALTTL  LOOPS DATA INTERNAL TC USYNRT

=CABLE USE THIS FOR TESTING WITH H3260
OR H3259 TURNARROUND CONNECTOR
NOTE: THIS SKIPS OVER THE CHECK
FOR MODEM READY WHEN DTR IS SET.

|
=L OCALMODEM '\ NOT USED BY DPV

=REMOTEMODEM

/PASS=NN SPECIFIES NUMBER OF ITERATIONS TO MAKE BEFORE
END-OF -PASS. DEFAULT VALUE OF 1
& WILL BE USED ON ANY RUN THAT A /PASS=N
it IS NOT ADDED TO THE ‘RUN ...'* COMMAND.
| IF A '-1"" IS TYPED, THEN THE PROGRAM
j RUN UNTIL A “C IS TYPED.

NOTE: SEE SECTION 6.1 FOR A DESCRIPTION
===== OF THE "RUN MODES'' AND ‘‘LOOP MODES"’

2.5.4 DEFAULTS

- e - .- -

IF NO "'SET'S'' THEN THE DEFAULT IS SAME AS IF TYPED:
SET TRANSMITMSG=]TEP/SI1ZE=58/COPY=0
SET EXPECTMSG=ITEP/SIZE=58/C0PY=0

THE DEFAULT COPY AND SIZE FOR EACH OF THE MESSAGE TYPES:
ONES - /SIZE=64/C0OPY=0
2EROES - /S1ZE=64/COPY=0
OALT = /SIZE=64/C0PY=0
1ALT - /SI1ZE=64/C0PY=0
CCITT = /S1Z2E=64/COPY=0
ALPHA - /S12E=65/COPY=0
ITEP = /SIZE=58/C0PY=0
OPER. SPEC'D = /SIZE=LENGTH=OF -TEXT~-TYPED-BE TWEEN-QUOTES/COPY=0

FOR THE RUN COMMAND THE DEFAULTS ARE:
RUN MODE=ACT]VE/NOSTATUS/CHE CK/NOE CHO/NOMODEM/PASS=1

NOTE: MODE=ACTIVE IS NOT DEFAULT, A MODE=MTYPE MUST BE TYPED
-====  EA(CH TIME A RUN IS TYPED

SEQ 0013
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IF THE DCLT PROGRAM IS RUN IN UNATTENDED MODE (UAM FILAG=1 OR CHAINED),
THE DEFAULTS ARE AS IF THESE SETUP AND RUN "OMMANDS WERE TYPED:

SET TRANS=ITEP
SET EXPECT=ITEP
RUN MODE=ACTIVE/LOOP=INTERNAL/NOSTAT/NOE CHO/NOMODEM/ CHE CK/PASS=1

OTHER NOTES:

% ALWAYS RETURNS YOU TO ‘DR>'" (THE SUPERVISOR)
<CR> IS SEEN AS A COMMAND TERMINATOR

"RuBOUT"" DELETE LAST CHAR. TYPED IN COMMAND STRING

2.5.5 PRINT COMMAND

THE PRINT COMMAND TAKES YOU TO THE REPORT LEVEL 'RPT>',
THE COMMANDS AVAILABLE IN RPT> ARE ...

COMMAND DESCRIPTION

HELP OR ? PRINTS HELP INFORMATION FOR RPT>

EXIT RETURNS YOU TO THE LEVEL THAT YOU
ENTERED FROM. (DCLT> OR DR>)

LOG PRINTS THE DCLT EVENT LOG

NOTE: AT SOME FUTURE DATE WHEN DDCMP PROTOCOL IS
SUPPORTED BY THIS DCLT PROGRAM, A COMMAND
WILL BE ADDED TO EXAMINE ERROR COUNTERS.

2.5.6 MISC COMMANDS

COMMANDS DESCRIPTION

EXIT FROM THE DCLT> LEVEL RETURNS YOU
TO DR>

HELP OR ? PRINTS HELP INFORMATION

SEQ 0014
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2.6 QUICK START=UP PROCEDURE (XXDP+)
TO START=UP THIS PROGRAM:
1. BOOT XXDi+

2. GIVE THE DATE AND ANSWER THE LSI AND 50HZ (IF THERE
IS A CLOCK) QUESTIONS

3. TYPE 'R NAME'', WHERE NAME IS THE NAME OF THE BIN OR BIC
FILE FOR THIS PROGRAM

4. TYPE ''START"'
5. ANSWER THE ‘'‘CHANGE HW'' QUESTION WITH '’
6. ANSWER ALL THE HARDWARE QUESTIONS. THE NUMBER OF UNITS
THAT CAN DCLT CAN USE IS ALWAYS *"1'",
WHEN YOU FOLLOW THIS PROCEDURE YOU WILL BE USING ONLY THE
DEFAULTS FOR FLAGS. THESE DEFAULTS ARE DESCRIBED IN SECTION 2.3.

7. AFTER THE 'DCLT> (A) ?'' PROMPT, TYPE
"RUN MODE=ACTIVE<CR>"'

WHEN YOU FOLLOW THIS PROCEDURE YOU WILL BE USING THE DEFAULT TRANSMIT
AND EXPECTED MESSAGES. THE DEFAULT PASS COUNT AND "RUN'' QUALIFIERS
ARE ALSO BEING USED. THESE DEFAULTS ARE DESCRIBED IN SECTION 2.5.3.
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3.0 ERROR INFORMATION
3.1 TYPES OF ERROR MESSAGES

THERE ARE THREE LEVELS OF ERROR MESSAGES THAT MAY BE ISSUED BY

A DIAGNOSTIC: GENERAL, BASIC AND EXTENDED, GENERAL ERIOR_MESSAGES
ARE ALWAYS PRINTED UNLESS THE ''IER'' FLAG IS SET (SECTION 2.3).

THE GENERAL ERROR MESSAGE IS OF THE FORM:

NAME TYPE NUMBER ON UNIT NUMBER TST NUMBER PC:XXXXXX
ERROR MESSAGE

LWHERE; NAME = DIAGNOSTIC NAME
TYPE = ERROR TYPE (SYS FATAL, DEV FATAL, HARD OR SOFT)
NUMBER = ERROR NUMBER
UNIT NUMBER = 0 = N (N IS LAST UNIT IN PTABLE)
TST NUMBER = TEST AND SUBTEST WHERE ERROR OCCURRED
PC:XXXXXX = ADDRESS OF ERROR MESSAGE CALL

BASIC ERROR MESSAGES ARE MESSAGES THAT CONTAIN SOME ADDITIONAL
INFORMATION ABOUT THE ERROR. THESE ARE ALWAYS PRINTED UNLESS
THE ‘'IER'* OR ''IBE'' FLAGS ARE SET (SECTION 2.3). THESE MESSAGES
ARE PRINTED AFTER THE ASSOCIATED GENERAL MESSAGE.

EXTENDED ERROR MESSAGES CONTAIN SUPPLEMENTARY ERROR INFORMATION

SUCH AS REGISTER CONTENTS OR GOOD/BAD DATA. THESE ARE ALWAYS
PRINTED UNLESS THE ''IER'', "IBE'' OR ''IXE'' FLAGS ARE SET (SECTION 2.3).
THESE MESSAGES ARE PRINTED AFTER THE ASSOCIATED GENERAL ERROR
MESSAGE AND ANY ASSOCIATED BASIC ERROR MESSAGES.

3.2 SPECIFIC ERROR MESSAGES

3.2.1 COMMAND LINE INTERPRETER ERRORS
ERROR MESSAGE : MEANING

?2ILL CMD-BAD SYNTX? A COMMAND WITH AN ILLEGAL CHAR WAS
TYPED - RETYPE THE COMMAND. THE
VALID COMMANDS AND THEIR SYNTAX ARE
SHOWN IN SECTION 2.5.

7INCMPLTE CMD? & R;QUIRD PART CF A COMMAND WAS LEFT

?NUM TOO BIG? THE VALUE OF A NUMERIC STRING IN THE
COMMAND %INE WAS LARGER THAN 65535
OR 177777 OCTAL. ( > 16 BITS).

?BAD RADIX? A8 OR ‘9" WAS TYPED WHEN AN OCTAL
STRING WAS EXPECTED. PROBABLY OCCURRED
WHEN TYPING A ‘DUMP'' COMMAND WHERE
OCTAL ADDRESSES ARE EXPECTED.

SEQ 0016
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?'L00P'" VALID ONLY IN ACTIVE? THE "*/LOOP=..'' SWITCH WAS TYPED IN A
RUN COMMAND BUT THE MODE WAS NOT SET
TO ACTIVE. MAINTENANCE LOOP IS ONLY
:???\II?LE IF THE MODE OF OPERATION IS

2"ECHO'' VALID ONLY IN PASSIVE? THE '/ECHO'' SWITCH WAS TYPED IN A
: RUN COMMAND BUT THE MODE WAS NOT SET
TO PASSIVE. ECHOING OF RECEIVED DATA
IS ONLY POSSIBLE IF THE MODE OF
OPERATION IS PASSIVE.

2ILL CHR=- "'A=Z,0-9,SP,TAB'' ONLY? A- CHARACTER TYPED WITHIN QUOTES WHEN
TRYING TO DEFINE THE CONTENTS OF A
TRANSMIT OR EXPECT MESSAGE WAS NOT
A ‘‘A-7,0-9,SPACE OR TAB''. RETYPE THE
COMMAND WITH ONLY THESE CHARACTERS
BETWEEN QUOTES.

?"'SIZE=0"" NOT VALID? A MESSAGE ZERO BYTES LONG CAN NOT BE
BUILT. RETYPE THE COMMAND WITH A
"'/SIZE=NNN''. IF NO '‘/SIZE='" IS TYPED
A DEFAULT SIZE WILL BE USED.

?TRANSMIT AND EXPECT LIST MUST BE IDENTICAL FOR LOOP?
IF RUN COMMAND WITH '‘/LOOP/CH'' IS TYPED
THE TRANSMIT LIST AND EXPECT LIST MUST

BE EQUAL. IF THEY ARE NOT THIS ERROR
WILL BE DISPLAYED. USE 'SE E=T' COMMAND.

3.2.2 DCLT OR DEVICE ERROR MESSAGES:

CLOCK NOT FOUND THIS MEANS THAT NO CLOCK WAS
FOUND ON THE SYSTEM THE DIAG-
NOSTIC WILL STILL RUN BUT NONE
82(&* TIME OUT CONDITIONS WILL

BAD CLOCK - PROGRAM WILL HANG ON ‘‘TIMEOUT''!!
THIS MEANS THAT THE CLOCK FOUND
ON THE SYSTEM DID NOT INTERRUPT
WHEN ASKED TO DO A "'TICK'.

THE PROGRAM WILL STILL RUN, BUT ANY
OF THE PROGRAM THAT TIMES THE DEVICE
WILL HANG IF THE DEVICE TIMES OUT.

ALSO, THE EVENT LOG WILL CONTAIN A
ZERO EVENT TIME FOR ALL EVENTS LUGGED.

MAX. CHAR., MSG COUNT EXCEEDED = MSG. NOT BUILT !!
THIS MEANS THAT THE TRANSMIT OR EXPECT
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BUFFER IS FULL. NO MORE MESSAGES CAN BE
ADDED TO THAT BUFFER.

BUFFER FULL = MSG. NOT BUILT !!
THIS MEANS THAT THE LAST MESSAGE YOU
TRIED TO ADD TO EITHER THE TRANSMIT OR
EXPECT BUFFER CAUSED T:{E TOTAL NUMBER
OF MESSAGES TO BE EXCEEDED. NO MORE
MESSAGES CAN BE ADDED TO THAT BUFFER.
THE LIMIT IS DETERMINED BY THE SIZE OF
THE MESSAGE POINTER TABLE.

CHAR. COUNT EXCEEDS BUFF LIMIT = MSG TRUNCATED

THIS MEANS THAT THE LAST MESSAGE YOU
TRIED TO ADD TO THE TRANSMIT OR EXPECT
BUFFER CAUSED THE TOTAL CHAR. COUNT
FOR THAT BUFFER 10 EXCEED THE LIMIT.
THE MESSAGE WAS TRUNCATED TO COMPLETELY
FILL THE BUFFER. NO MORE MESSAGES CAN
BE ADDED TO THAT BUFFER.

3.2.3 DEVICE ERROR MESSAGE

DATA COMPARISON DATA ERROR
BYTE # IN MSG=XXX EXPTID=YYY RECVD=222

XXX= OFFSET OF THAT BYTE FROM THE START
OF THE COMPARE OR EXPECT MESSAGE.
YYY= THE CONTENTS OF THAT BYTE IN THE

EXPECTED MESSAGE
272= THE CONTENTS OF THAT BYTE IN THE
RECEIVED MESSAGE

UP TO FIVE OF THESE ERRORS WILL BE
PRINTED PER MESSAGE COMPARED. ONLY
THE FIRST FIVE MISMATCHES WILL BE
INDIVIDUALLY REPORTED, BUT TOTAL
NUMBER OF MISTMATCHES IS REPORTED
BY ANOTHER ERROR.

PRINTING THE EVENT LOG AND USING THE
DCLT “DUMP'* COMMAND WILL ALLOW YOU TO
FIND THE ADDRESS OF THE MESSAGE AND
EXAMINE 1T,

DATA (OMPARISON DATA ERROR

TOTAL MISMATCHES IN MSG = NAN
THIS MEANS THAT WHEN THE MESSAGE
RECEIVED WAS COMPARED AGAINST THE
MESSAGE THAT WAS EXPECTED, SOME OF
THE (HARS. WERE NOT THE SAME.

DATA (COMPARISON LENGTH ERROR
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COMPARE COUNT= XXX  RECEIVE COUNT= 2271

XXX= NUMBER OF BYTES IN THE COMPARE
ME SSAGE

777= NUMBER OF BYTES IN THE RECEIVED
ME SSAGE

THIS MEANS THAT THE MESSAGE RECEIVED

WAS A DIFFENT LENGTH THEN THE MESSAGE

THAT WAS EXPECTED.

MODEM STATUS CHANGES FOR THIS PASS WERE..
HARD CHANGES=XXXXX  GLITCHES=XXXXX

LA A28 2

* NOTE = IN THE FOLLOWING ERR
AR LA AL REFERS TO THE OCTAL
SPECIFIED.

MASTER RESET DID NOT WORK

WHERE XXXXX IS A 5 DIGIT DECIMAL NUMBER
THIS MSG IS ONLY PRINTED IF NUMBER OF
EITHER HARD CHANGES OR GLITCHES IS
GREATER THAN 0. A HARD CHANGE IS ONE
WHERE THE DPV WAS ABLE TO LATCH UP A
DIFFERENCE IN THE MODEM STATUS. A
GLITCH IS WHEN A MODEM STATUS INTERRUPT
OCCURS BUT THE DPV CANNOT FIND A
DIFFERENCE IN STATUS BIT.

OR DESCRIPTIONS XXXXX
CONTENTS OF THE DEVICE REGISTERS

THIS MEANS THAT AFTER A MASTER
RESET WAS ISSUED TO DPV_THE
RXCSR REGSITER WAS NON ZERO.

WHEN REQUEST TO SEND SIGNAL

IS SET MODEM DOES NOT RESPOND
WITH CLEAR TO SEND

DEVICE TIMED OUT AFTER

WAITNG FOR A RECIEVER OR
TRANSMITTER TO COMPLETE

MODEM DID NOT RESPOND WITH MR,

THE CRC ERROR BIT IS CLEAR
AT TIME THAT IT SHOULD BE SET

RECIEVER DETECTED AN OVERRUN

RXCSR TXCSR

XXXXXX XXXXXXX

NO CLEAR TO SEND FROM MODEM
RXCSR TXCSR

XXXXXXX XXXXXXX

TIME OUT WAITING FOR RX OR TX TO COMPLETE
RXCSR TXCSR

XOOCKXXX XXXXXXX

MODEM DID NOT RETURN MODEM READY
RXCSR TXCSR

XXXXXXX XXXXXXX

CRC IN ERROR

RDSR RXCSR

XXXXXX XXXXXX

RECEIVER OVERRUN

RDSR RXCSR

XXXXXXX XXXXXXX

TIMED OUT [N START,STACK ACK SEQ

THIS ERROR OCCURS WHEN [N THE

SEQ 0019
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DEVICE INIT ROUTINE A TIME OUT
OCCURS WHILE TRYING TO DO START
STACK ACK START UP SEQUENCE.
THE VALUES IN RDATA AND SDATA
INDICATE THE LAST CONTROL CHAR
?EBAEXED(RDATA) AND TRANSMITTED

RDATA SDATA
XXX XXXXXXX

4.0 PERFORMANCE AND PROGRESS REPORTS

DCLT USES IT'S OWN METHOD FOR DETERMINING AN "END OF PASS''

WHICH IS CALLED A 'DCLT END OF PASS''. THE NUMBER OF 'DCLT PASSES"'
TO BE RUN IS SPECIFIED BY THE "'/PASS=XXX'' SWITCH ON THE DCLT

RUN COMMAND. THE TOTAL NUMBER OF ‘DCLT ERRORS'' IS REPORTED

WHEN *' X NUMBER OF DCLT PASSES'' ARE COMPLETED.

4.1 PRINTING OF EVENT LOG

SIGNIF ICANT EVENTS OR C::ZCK-POINTS WILL BE LOGGED IN A

“CIRCULAR QUEUE'' STORAGE AREA CALLED THE EVENT LOG. THE LAST

"W'' EVENTS ARE KFPT LOGGED AND CAN BE LISTED ON THE OPERATORS

CONSOLE BY GIVING A "PRINT'' COMMAND AT THE 'DR>''(DIAGNOSTIC SUPERVISOR)
OR ‘DCLT>"" (DCLT) LEVEL. THIS WILL TAKE YOU TO THE RPT> LEVEL. NOW
INPUT THE "LOG'' COMMAND. THE EVENTS ARE PRINTED IN A "LAST-IN
FIRST-0UT'" ORDER.

EVENT TIME IS TYPED OUT AS MMM:SS:TT (LIKE 254:36:07) WHERE MMM, SS,TT
REPRESENT THE NUMBER OF MINUTES, SECONDS, CLOCK TICKS SINCE THE LAST
START OR RESTART, IT SHOULD BE NOTED THAT THE TIMES ARE

RELATIVE SINCE WHILE THE PROCESSOR IS RUNNING AT PRIORITY 7

THE CLJCK CAN'T INTERRUPT TO KEEP TIME. THIS IS THE CASE

WHILE THE PROGRAM IS FETCHING DCLT COMMANDS FROM THE OPERATOR.

IT SHOULD ALSO BE NOTED THAT THERE ARE ONLY 8 BITS AVALIABLE TO STORE
RELATIVE MINUTES SO ‘‘TIME'' WILL WRAP TO 000:00:00 AFTER 256:59:59.

A START OR RESTART COMMAND AT THE "DR>'' LEVEL INITIALIZES THE EVENT
LOG. THEREFORE IT IS WISE TO DO A ‘PRINT'' AT THE "DR>'" LEVEL
BEFORE GIVING A "'START'' OR "RESTART'',

THE TYPES OF EVENTS KEPT IN THE EVENT LOG ARE:

TRANSMIT MESSAGE QUEUED:
EVENT TIME, ADDRESS OF 1ST BYTE OF MESSAGE,
TOTAL NO. OF BYTES, MODEM STATUS AT THAT TIME.
TRANSMIT MESSAGE COMPLETED:
EVENT TIME, ADDRESS OF 1ST BYTE OF MESSAGE,
TOTAL NO. OF BYTES, MODEM STATUS AT THAT TIME.
RECEIVE SPACE QUEUED: .
EVENT TIME, ADDR®SS OF 1ST BYTE OF MESSAGE,
TOTAL NO. OF BYTES, MODEM STATUS AT THAT TIME.
RECEIVE MESSAGE COMPLETED: .
EVENT TIME, ADDRESS> OF 1ST BYTE OF MESSAGE,

SEQ 0020
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l TOTAL NO. OF BYTES, MODEM STATUS AT THAT TIME.

| DATA COMPARISON STARTED:

i EVENT TIME, ADDRESS OF 1ST BYTE OF RECEIVED MSG.,
TOTAL NO. OF BYTES IN RCV. MSG., TOTAL NO. OF BYTES
IN EXPECT MSG.

DATA COMPARISON DATA ERROR:
EVENT TIME, ADDRESS OF 1ST BYTE OF RECEIVED MSS.,

| TOTAL NO. OF BYTES IN RCV. MSG., TOTAL NO. OF
COMPARISON FAILURES

DATA COMPARISON LENGTH ERROR:
EVENT TIME, ADDRESS OF 1ST BYTE OF RECEIVED MSG.,
TOTAL NO. OF BYTES IN RCV. MSG., TOTAL NO. OF BYTES
IN EXPECT MSG.

DEVICE INIT AND SETUP:
EVENT TIME, MODE OF OPERATION, TYPE OF MAINTENANCE
LOOP, ‘DCLT'® PASS COUNT, "RUN"' PARAMETERS

DEVICE ERROR:
EVENT TIME, DEVICE ERROR MESSAGE, CONTENTS OF TwO
REGISTERS RELATING TO THE ERROR.

ENC OF PASS:
EVENT TIME, "DCLT'' PASS COUNT, 'DCLT'" ERROR COUNT,
AND THE ''STRT=TO''(COUNT OF START TIME OUTS).

4.2 OPERATOR STATUS MESSAGES

THE *'/STATUS, /NOSTATUS'® QULAIFIERS FOR THE DCLT 'RUN'" COMMAND
ENABLES/DISABLES THE PRINTING OF PROGRAM STATUS MESSAGES TO THE
OPERATOR. THESE MESSAGES ARE INTENDED TO TELL THE OPERATOR WHAT
THE DCLT PROGRAM IS CURRENTLY DOING. BELOW ARE THE MESSAGES THAT
MIGHT BE PRINTED AND THEIR MEANING:

MESSAG: MEANING

TXQ DEVICE IS ABOUT START TRANSMITING A MESSAGE

TXC TRANSMISSION OF MESSAGE COMPLETED

RXQ DEVICE HAS QUEUED SPACE TO RECEIVE/ COMPLETED RECEIVE
ERR DEVICE ERROR HAS OCCURRED

INI DEVICE ABOUT TO BE INITIALIZED

MSC ABNORMAL MODEM STATUS CHANGE

CMP ABOUT TO DO DATA CHECKING OF RECVD VS. EXPTD DATA

CML LENGTH ERROR OCCURRED DURING DATA COMPARISON

CMD DATA ERROR OCCURRED DURING DATA COMPARISON

EOP END OF PASS

SEQ 0021
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5.0 DEVICE INFORMATION TABLES

THIS IS THE DEFAULT +HAPDWARE P-TABLE. THE VALUES AND

SIZE ARE USED AS A ''TEMPLATE'' FOR CREATING ACTUAL P-TABLE
ENTRIES AND THE DEFAULT VALUES PROVIDED FOR THE OPERATOR.
SEE SECTION 2.4 FOR AN EXAMPLE OF THE HARDWARE QUESTIONS.

THE NUMBERS IN BRACKETS ( I1.E. [10]) INDICATES THE OFFSET OF THE
WORD INTO THE HARDWARE P-TABLE THE OFFSETS MUST MATCH THE P-TABLE
OFFSETS USED IN THE HARDWARE PARAMETER CODING SECTION WHERE THE
"'GET PARAMETER'' CALLS ARE USED TO FILL THE P-TABLE.

WORD 1 ;[0) FULL OR HALF DUPLEX FLAG (BITO=1 IF FULL)

.WORD 160170 :[2] CSR ADDRESS

.WORD 300 ;4] INTERRUPT VECTOR
.WORD 240 :[6]_ SPARE

WORD O :[10] SPARE

.WCRD 0 :[12] SPARE

WORD O :[14] REMOTE NODE ''ITEP'

6.0 MODE AND MESSAGE DESCRIPTIONS

6.1 MODE DESCRIPTIONS

THE FOLLOWING MODE DESCRIPTIONS REFER TO MESSAGE LISTS BEING
TRANSMITTED AND RECIEVED BE AWARE THAT OTHER DATA_IS ALSO

SENT WITH THE MESSAGE. MESSAGE FORMATS ARE..... 177 (0CTAL ) SYNC
CHARS; SOH CHAR(201) ,BYTE COUNT OF MSG.(2 BYTES); THREE BYTES OF
OCTAL 001; 2 BYTES OF CRC;THE MESSAGE BODY;2BYTES OF CRC.

IF REMDTE NODE ITEP QUESTION IS ANSWERED Y THEN SYNC CHAR WILL
BE OCTAL 26 INSTEAD OF 226;NO SOHM.BYTE COUNT OR HEADER DATA WILL
BE SENT. ON FULL DUPLEX LINKS A START STACK ACK SEQ WILL BE SENT
ONCE AT INIT TIME FOR EACH MODE. THIS SEQUENCE CONTAINS CONTROL
MESSAGES WHOSE FORMAT IS ..8 SYNC CHAR, 1BYTE ENQ(005),START
STACK OR ACK,3 BYTES OF 001, AND 2BYTES OF CRC.

6.1.1 TRANSMIT MODE

A LIST OF MESSAGES IS TRANSMITTED WITHOUT EXPECTING ANY DATA
TO BE RECEIVED.

6.1.2 RECEIVE MODE

SPACE 1S QUEUED FOR THE DEVICE TO RECEIVE MESSAGES.
AFTER RECEIVING AN “EXPECTED'' NUMBER OF MESSAGES
CAN BE COMPARED AGAINST A LIST OF "EXPECT TO RE
IF DATA=CHECKING IS ENABLED.

THE DATA RECEIVED
CEIVE" MESSAGES

SEQ 0022
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6.1.3 PASSIVE MODE

THEN EVERY TIME A MESSAGE IS RECEJVED, A MESSAGE IS TRANSMITTED.
DATA CHECKING CAN BE DONE ON THE RECEIVED DATA.THE ''/ECHO, /NOECHG'
ENABLES/DISABLES THE RETRANSMISSION OF THE DATA RECEIVED.

6.1.4 ACTIVE MODE

A LIST OF MESSAGES IS TRANSMITTED AND MESSAGES ARE RECEIVED.

AFTER RECEIVING AN "EXPECTED'' NUMBER OF MESSAGES, THE DATA RECEIVED
CAN BE COMPARED AGAINST A LIST OF "EXPECT TO RECEIVE'' MESSAGES

IF DATA=CHECKING IS ENABLED.

NOTE: IF BOTH ENDS OF THE LINK ARE IN ACTIVE MODE, THEN THE
LINK MUST BE A FULL DUPLEX LINK!

6.1.5 DOWN=-LINE-LOAD

DOWN=L INF~LOADING IS NOT SUPPORTED FOR DPV=11 TO DPV=11 LINKS.

6.1.6  TALK MODE

THE “‘TALK'®' END OF THE LINK TRANSMITS OPERATOR-TYPED MESSAGES
UNTIL A "EXIT'* MESSAGE IS TYPED., AT THAT POINT, THE NODE GOES
INTO *LISTEN'' MODE. AN "EXIT MESSAGE'' IS A MESSAGE WHOSE FIRST
FOUR CHARACTERS ARE "EXIT'. SINCE ONLY THE FIRST FOUR CHARACTERS
NEED TO BE "EXIT'', MORE CHARACTERS CAN BE ADDED SO THAT A MESSAGE
MAY BE SENT AND THE MODE SWITCHED ALL AT ONCE. FOR EXAMPLE:

TLK> EXIT ALL OF THIS LINE IS SENT THEN MODE SWTICHED

6.1.7 LISTEN MODE

LINK PRINTS ALL OF THE MESSAGES

"DEVICE ON THE OPERATOR'S CONSOLE. IF_THE MESSAGE

IS AN "EXIT" MESSAGE, THEN THE NODE ENTERS '‘TALK'' MODE.
IS A MESSAGE WHOSE FIRST FOUR CHARACTERS ARE "EXIT'".

—— —— e —_ - -
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6.1.8 MAINTENANCE "LOOP'' MODES

RE'E'BER THAT THE WHENEVER A 'RUN'‘ COMMAND IS TYPED, THE DEFAULT IS
LOOPBACK AND THAT A LOOP MODE MUST BE SPECIFIED BY A '‘/LOOP=..

IF A LOOP MODE IS DESIRED.

LOOP MODES ARE ONLY VALID IF THE MODE TO RUN IS ACTIVE !

INTERNALTTL LOOPS DATA INTERNAL TO THE USYNRT

THE FOLLOWING TABLE SUMMARIZES THE MODES THAT CAN BE RUN TOGETHER
%NOIH;HECH*P?OGRM IS RUNNING ON TWO PROCESSORS (ONE AT EACH

HALF

DUPLEX !STATION A STATION B !
START ~ i"MOST'' NODE '”/LOOP'' ALLOWED? “REMOTE'’ NODE DUPLEX :
- | TALK NO LISTEN*, RECEIVE HALF OR FULL!
A ILISTEN NO TALK*, TRANSMIT HALF OR FULL!
- i TRANSM] T NO RECEIVE+, LISTEN HALF OR FULL'
4 'RECE JVE NO TRANSMIT+, TALK HALF OR FULL'
A iPASS VE NO ACTIVE* HALF OR FULL!
-NA-  IACTIVE YES ACTIVE+ FULL !
5 IACTIVE YES PASSIVE+ HALF OR FULL!
-NA-

" DOWNL INELOAD «» DOWN-LINE-LOADING IS NOT SUPPORTED FOR DPVv=11 !
i TO DPV=11 LINKS. |

= MOST LIKELY TO BE IN THAT MODE

NOTE: H/D START COLUMN INDICATES WHICH NODE TO START FIRST ON A
HALF DUPLEX LINK

6.2 MESSAGE DESCRIPTIONS

NAME DESCRIPTION

ZEROES MESSAGE OF ALL 0'S (00000000,00000000,00000000,...)

ONES MESSAGE OF ALL 1°'S (11111111 11111111 11111111 ... )

1ALT nsssAGE OF ALTERNATING 1's (10101010,10101010,....)

OALT SAGE gr ALTERNATING 0°'S (01010101.01010101.....

CCITT ;'ccm 12-BIT (vS. S11 BITS) TEST PATTERN

ITEP ‘INT ESSOR TEST PROGRAM'S (ITEP)'' MESSAGE 1(DP1:)
(<177><177>/8A THE QUICK FOX ovea THE
LAZY DOG.<15><12><001><177><177><177><177>)

ALPHA ALPHA-NUMERICS (OR FUTURE (

TURNAROUND MSG)
(#8'"" (AMPERSAND) * () *+ -.0123456789 : <=>?3ABCDEF GH1JK
Lmswwxn/t\r )

SEQ 0024
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‘‘A=7,0-9,SPACES, TABS"'

THESE ARE THAT THE CHARACTERS THAT (AN
BE TYPED BETWEEN QUOTATION MARKS ('..")
TO SPECIFIY A UNIQUE MESSAGE.

OPERATOR=-SPECIF IED

7.0 OTHER INFORMATION

7.1 INTERFACING TO AN "'ITEP'' NODE

THESE ARE THE RULES WHEN USING ITEP/WITH A DUP TO TALK
TO A DPV USING DCLT.

ITEP NODE DCLT NODE
ANSWER ALL QUESTION TO THE ANSWER ALL QUESTIONS TO THE
SET SWITCHES PROMPT. DCLT> PROMPT.

(2223233322333 2332323323323 2223 3222222 R 22 2ddiiiiit il dlldd)

FOR ONE WAY OUT...
SET SWITCHES TO 1221 CLEAR EXPECTED
SET E=]TEP/S=56
RUN MODE=REC/STATUS/(CHECK

NOTE: DUP ITEP SENDS ONLY 56 CHARS

I R T T T L T T T L T T T T T
FOR ONE WAY IN.....

SET SWITCHES TO ....1222 RUN MODE=TRA/STATUS

(2333332322223 22232 2222322222222 2222222020 22 2222220023 dd

FOR EXTERNAL LOOPBACK....

SET SWITCHES....... 1224 CLEAR EXPECTED
SET EXP=ITEP/S=56
RUN MODE=ACTIVE/STATUS/CHECK

(T2 3233222222222 2223222222222 3222202 ddRd il ddldll)

FOR INTERNAL LOOPBACK......

SET SWTICHES......1260 CLEAR EXPECTED
SET EXP=ITEP/S=56
RUN MODE=ACTIVE/STATUS/(CHECK

(222222 a 2R R0 R R Rttt il idlsddld)

NOTE: DO NOT USE SWITCH 8 WITH ITEP GOING TO DCLT
THE ONLY MESG. DCLT SUPPORTS IS MSG 1.

SEQ 0025
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DCLT IGNORES CRC ERRORS WHEN REC DATA FROM ITEP
BECAUSE ITPE SENDS NO CRC.

7.< TROUBLESHOOTING HINTS

LISTED BELOW ARE SOME SETUPS THAT COULD BE USED FOR ISOLATING FAULTS.
THESE ARE BY NO MEANS THE ONLY WAYS DCLT CAN BE USED !!.!!!!

DCLT IS MEANT TO BE A VERY FLEXIBLE TOOL! THIS SECTION IS MEANT TO
GIVE SOMEONE NOT TOO FAMILIAR WITH DCLT A PLACE TO START.

REMEMBER THAT THE PRINTING OF STATUS MESSAGES AND PRINTING OF THE
EVENT LOG CAN PROVIDE A LOT OF INFORMATION ABOUT THE SEQUENCE OF
EVENTS AND HOW THE DEVICE AND LINK ARE BEHAVING.

NOTE: IF BOTH NODES IN ACTIVE AND ‘‘/NOCHECK'' IS USED,

----- END-OF -PASS IS DEFINED AS RECEIVING 1 MESSAGE
AND COMPLETING THE TRANSMIT LIST. WITH NO DATA
CHECKING, THERE IS NO WAY FOR DCL7 TO KNOW HOW
MANY MESSAGES IT SHOULD EXPECT TO RECEIVE.

7.2.17 INTERNAL LOOF AT EACH NODE

RUN EACH END OF THE LINK IN ACTIVE MODE WITH LOOP=INTERNAL.
TRANSMIT TWO OR THREE MESSAGES WITH NO DATA CHECKING.

STATUS PRINTING COULD BE TURNED OFF IF ON, BUT SEEING THE SEQUENCE
OF EVENTS MIGHT BE INFORMATIVE.

A POSSIBLE COMMMAND SEQUENCE IS:
CE

cT
SE T=ONES/S=20/(=2
R M=A/LO=1/NOCH/STAT

WHAT THE ABOVE COMMAND SEQUENCE MEANS :

THE “'C E'* AND THE "'C T** INITIALIZES THE "EXPECT''

LIST AND THE '‘TRANSMIT LIST''. THE ‘'SE T=ONES/S=20/(=2"’

SETS THE TRANSMIT LIST TO CONTAIN 3 MESSAGES. THE MESSAGES
CONTAIN DATA OF ALL ONES AND EACH ONE IS 20 BYTES IN LENGTH.
THE 'R M=A/L0=1/NOCH/STAT'' SETS THE MODE TO RUN IN TO BE
ACTIVE AND LOOP TYPE TO BE INTERNAL TTL. THE PROGRAM WILL
NOT BE CHECKING DATA SO THERE WAS NO NEED TO SET UP AN
EXPECT LIST. THE PROGRAM WILL BE PRINTING STATUS MESSAGES.

WHAT YOU SHOULD SEE AFTER ENTERING THE RUN COMMAND
IF THINGS ARE RUNNING CORRECTLY :

INI RXQ TXQ RXQ TXC TXQ RXQ@ TX(C
TXQ RXQ TXC EOP
MODE =ACT I VE/LOOP= INTERNAL /PASS=00000
oty i 483 /STATUS/NOCHE (K /NOE CHO/NOMODEM
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THIS GIVES YOU A IDEA IF THE COMM. DEVICE CAN EVEN TRANSMIT AND
RECEIVE. ANY ERRORS REPORTED WILL PROBABLY BE DUE TO INCORRECT
DEVICE ADDRESSES BEING USED OR A FAULTY DEVICE. CHECK ADDRESSES
HéY?c'EDISPLAY" AND RUN THE PREREQUISITE DIAGNOSTICS FOR THE COMM.
D v -

NOW TRY RUNNING EACH NODE THE SAME WAY WITH DATA (HECKING ENABLED.
A POSSIBLE COMMMAND SEQUENCE IS:

SE E=T
R M=A/L0=1/CH/PAS=3

WHAT THIS SEQUENCE MEANS: i

THIS SEQUENCE IS SIMILAR TO THE ONE ABOVE . THE ''SE E=T"’
MAKES A COPY OF THE TRANSMIT LIST IN THE EXPECT LIST.

THE EXPECT LIST NOW CONTAINS 3 MESSAGES. THE MESSAGES WILL
HAVE ALL ONES FOR DATA AND BE 20 BYTES EACH IN LENGTH.

THE RUN COMMAND IS THE SAME WITH THE ADDITION OF TWO
SWITCHES ''/CH/PAS=3''. THE "'CH'' SWITCH TELLS THE PROGRAM

TO CHECK THE RECEIVED DATA AGAINST THE "EXPECTED LIST''.

THE ‘PAS=3"' SWITCH TELLS THE PROGRAM TO RUN 3 PASSES BEFORE
RETURNING TO THE DCLT> PROMPT. .

WHAT YOU SHOULD SEE AFTER ENTERING THE RUN COMMAND
IF THINGS ARE RUNNING CORRECTLY :

INI RXQ TXQ TXC RXQ TXQ TXC RXQ
™Q TXC CMP CMP CMP EOP RXQ TXQ
TXC RXQ TXQ TXC RXQ TXQ TXC CMP
CMP CMP EOP RXQ TXQ TXC RXQ TXQ
TXC RXQ TXQ TXC CMP CMP (MP EOP
MODE=ACTIVE/LOOP=INTERNAL /PASS=00000
/STATUS/ CHE CK/NOE CHO/NOMODEM

IF A CABLE TURNAROUND CONNECTOR IS AV
THE CASLE JUST BEFORE THE MODEM OR IF
CONNECTOR IS AVAILABLE INSTALL IT AND
"'/LOOP=CABLE'" SWITCH.

POSSIBLE COMMAND SEQUENCE IS:

R M=A/L=(/CH/PAS=3
WHAT THIS SEQUENCE MEANS:

THIS SEQUENCE HAS THE ''/LO=C''. THIS INFORMS THE SOF TWARE
NOT TO CHECK FOR DATA SET READY SIGNAL FROM THE MODEM.

WHAT YOU SHOULD SEE AFTER ENTERING THE RUN COMMAND

AILABLE, PUT IT ON THE END OF
A H3260(RS=423) ON BOARD
RUN IN ACTIVE MODE WITH THE

SEQ 0027
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IF THINGS ARE RUNNING CORRECTLY :

INI RXQ TXQ TXC RXQ TXQ TXC RxQ
TXQ TXC CMP CMP CMP EOP RXQ TXQ
TXC RXQ TXQ TXC RXQ TXQ TXC CMP
CMP CMP EOP RXQ TXQ TXC RXQ TXQ
TXC RXQ TXQ TXC CMP CMP CMP EOP
MODE=ACTIVE/LOOP=CABLE/PASS=00000
/STATUS/ CHE CK/NOE CHO/NOMOLEM
DCLT> (A) ?

7.2.2 TRANSMIT ON ONE NODE RECEIVE ON THE OTHER

NOW TRY TRANSMIITING FROM ONE END AND RECEIVING ON THE
OTHER. MAYBE WITH NO DATA CHECKING AT FIRST TO ESTABLISH
IF THE LINK IS WORKING. POSSIBLE COMMAND SEQUENCES ARE:

NODE A NODE B

CE CE

cT cT

SE T=1ALT/S=250 R M=R/NOCH/PAS=3
R M=TR/PAS=3

WHAT THIS SEQUENCE MEANS:

THE ‘“'C E "* AND "'C T'" INITIALIZE BOTH THE

TRANSMIT AND EXPECT LISTS. THE ''SE T=1ALT/S$=250"'

SETS THE TRANSMIT LIST ON NODE A TO BE 1 MESSAGE

WITH A LENGTH OF 250 BYTES AND DATA OF ALTERNATING
ONES AND ZEROS. THE 'R M=TR/PAS=3"'' SETS THE RUN MODE OF
NODE A TO BE TRANSMIT AND THE PASS COUNT IS SET TO 3.
THE 'R M=R/NOCH/PAS=3'"' SETS THE RUN MODE OF NODE B

TO BE RECEIVE, NO DATA CHECKING IS TO BE DONE ,AND

THE PASS COUNT IS SET TO THREE.

WHAT YOU SHOULD SEE AFTER ENTERING THE RUN COMMAND
IF THINGS ARE RUNNING CORRECTLY :

FOR NODE A:

INI TXQ TXC EOP TXQ TXC EOP TXQ
TXC EOP
MODE =TRANSMI T/PASS=00000
/STATUS/NOCHE CK/NOE CHO/NOMODEM
DCLT> (A) ?

FOR NODE B:
INI RXQ EOP RXQ EOP RXQ EOP
MODE =RE CE I VE /PASS=00000
/STATUS/NOCHE CK/NOE CHO/NOMODEM
DCLT> (A) ?
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NOW TRY DOING DATA CHECKING ON THE MESSAGE(S) BEING
TRANSMITTED. POSSIBLE COMMAND SEQUENCES ARE:

SE E=1ALT/S=250
R M=TR/PAS=3 R M=R/(H/PAS=3

WHAT THIS SEQUENCE MEANS:
THE ''SE E=1ALT/S=250"" LINE MUST BE ADDED HERE
TO SET UP THE "EXPECT LIST'® ON THE RECEIVE NODE
SO IT WILL KNOW WHAT TO COMPARE AGAINST.
THE CHANGE IN THE RUN COMMAND IS FROM ‘NOCH'' TO
"'CH''.. THE ''CH'" ENABLES DATA CHECKING.

WHAT YOU SHOULD SEE AFTER ENTERING THE RUN COMMAND IF THINGS
ARE RUNNING CORRECTLY:

NODE A: IS THE SAME AS ABOVE.

NODE B:
INI RXQ CMP EOP RXQ CMP EOP RXQ CMP EOP
MODE =RE CE I VE /PASS=00000
/STATUS/ CHE CK/NOE CHO/NOMODEM
DCLT> (A)?

NOW RUN THRU THE SEQUENCE AGAIN WITH NODE A RECEIVING
AND NODE 8 TRANMITTING TO CHECK OUT THE OPPOSITE
DIRECTION OF DATA FLOW.

7.2.3 ONE NODE ACTIVE THE OTHER NODE PASSIVE

NOW TRY RUNNING ONE NODE IN ACTIVE MODE WHILE THE OTHER
END RUNS IN PASSIVE. DATA CHECKING SHOULD BE TURNED OFF
IF THE MESSAGE LISTS ARE NOT THE SAME.

POSSIBLE COMMAND SEQUENCES ARE:

NODE A NODE B

CE CE

cT cT

SE T=CCITT/S=10/C=2 SE T=1ALT/S=20/(=2
R M=ACT/NOCH/PAS=3 R M=P/NOCH/PAS=3

WHAT THIS SEQUENCE MEANS:

THE EXECUTION OF THIS SEQUENCE CAUSES THE FOLLOWING
THINGS TO HAPPEN ON NODE A. THE TRANSMIT AND EXPECT
LISTS ARE INITIALIZED THEN THE TRANSMIT LIST IS SET
TO 3 MESSAGES OF 10 BYTES EACH. THE DATA USED IN THE
TRANSMIT MESSAGES IS THE CCITT PATTERN. THEN NODE A
IS RUN IN ACTIVE MODE WITH DATA CHECKING DISABLED AND
THE PASS COUNT SET TO THREE. NOTE STATUS WOULD STILL BE
PRINTED IF THE PREVIOUS SEQUENCES HAD BEEN RUN.

If YOU ARE RUNNING FROM LOAD TIME YOU WOULD HAVE
TO ADD A "'/STA TO THE RUN COMMAND LINE.

SEQ 0029
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NODE B: THE TRANSMIT AND EXPECT LISTS ARE INTIALIZED
THEN THE TRANSMIT LIST IS SET TO 3 MESSAGES OF

20 BYTES EACH. THE DATA FOR EACH MESSAGE IS ALTERNATING
1'S AND 0'S. THE NODE IS THEN RUN IN PASSIVE MODE WITH

DATA CHECKING DISABLED AND THE PASS COUNT SET TO 3.

WHAT YOU SHOULD SEE AFTER ENTERING THE RUN COMMAND
IF THINGS ARE RUNNING CORRECTLY :

FOR NODE A:

INI RXQ TXQ TXC RXQ TXQ TXC RXQ
TXQ TXC EOP RXQ TXQ TXC RXQ TXQ
TXC RXQ TXQ TXC EOP RXQ TXQ TXC
RXQ TXQ TXC RXQ TXQ TXC EOP
MODE=ACTIVE/PASS=00000
/STATUS/NOCHE CK/NOE CHO/NOMODEM
DCLT> (A) ?

FOR NODE B:

INI RXQ TXQ TXC RXQ TXQ TXC RXQ

TXQ TXC EOP RXQ TXQ TXC RXQ TxQ

TXC EOP RXQ TXQ TXC RXQ TXQ TXC

RXQ TXQ TXC EOP

MODE =PASSIVE/PASS=00000
/STATUS/NOCHE CK/NOE CHO/NOMODEM

DCLT> (A) ?

NOW USE DATA CHECKING WITH THE ‘EXPECT MESSAGE LISTS'' SET
UP APPROPRIATELY. ANOTHER VARIATION IS TO HAVE LARGE SIZE
MESSAGES ON ONE SIDE WITH SMALL MESSAGES ON THE OTHER.

THEN REVERSE THE SETUP SO THAT THE NODE RUNNING IN ACTIVE
IS RUNNING IN PASSIVE AND VICE VERSA.

7.2.4 BOTH NODES ACTIVE

NOW BOTH NODES CAN BE RUN IN ACTIVE WITH DATA CHECKING ON.
STATUS PRINTING COULD BE TURNED OFF IF YOU'RE NOT INTERESTED
IN THEM.

NODE A NODE B

CE CE

g " cT

SE T=0ALT/S=10 SE E=0ALT/S=10

SE T=CCITT1/5=20 SE E=CCITT/5=20

SE T=ALPHA/S=30 SE E=ALPHA/S5=30

SE E=ZER0O/S=11 SE T=ZERO/S=11

SE E=ONES/S5=21 SE T=ONES/S=21

SE E=ITEP/S=31 SE T=]TEP/S=31

R M=A/(CH/NOST/PAS=3 R M=A/(CH/NOST/PAS=3

SEQ 0030
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WHAT THIS SEQUENCE MEANS:
NODE A SETS UP IS TRANSHIT LIST TO BE
3 MESSAGES. MESSAGE 1 IS 10 BYTES LONG AND
CONTAINS DATA OF ALTENATING O'S AND 1°'S
MESSAGE 2 IS 20 BYTES LONG AND CONTAINS
DATA OF THE CCITT PATTERN. MESSAGE THREE
IS 30 BYTES LONG AND CONTAINS ALPHANUMERICS
FOR DATA. THE EXPECT LIST ALSO CONTAINS
3 MESSAGES. MESSAGE 1 IS 11 BYTES LONG_AND
CONTAINS 0'S FOR DATA, MESSAGE TWO IS 21
BYTES LONG AND CONTAINS 1°'S FOR DATA. MESSAGE
3 IS 31 BYTES LONG AND CONTAINS THE ITEP DATA.
NODE B HAS THE SAME MESSAGES EXCEPT THAT THE
TRANSMIT MESSAGE LIST IS THE EXPECT MESSAGE LIST
AND VICE VERSA.
BOTH NODES ARE RUN IN THE ACTIVE MODE WITH
DATA CHECKING AND “ASS COUNT EQUAL TO THREE.

WHAT YOU SHOULD SEE AFTER ENTERING THE RUN COMMAND
IF THINGS ARE RUNNING CORRECTLY :
ON BOTH NODES A AND B:
MODE=ACTIVE/PASS=00000
/NOSTATUS/ CHE CK/NOE CHO/NOMODEM
DCLT> (A) ?

IS F
SMALL MESSAGES AND THE OTHER TO SEND A FEW LARGE MESSAGES.
IHEPR(%:,‘E)EOF.FASS” POINT WILL BE OuT SYNC BUT THIS IS NOT

A VARIATION THAT CAN BE USED OR GAUE END TO SEND A LOT OF
OF

7.2.5 TALK. AND LISTEN MODES FOR COMMUNICATING

TALK AND LISTEN MODES ARE USEFUL IF THE OPERATORS WISH TO COMMUNICATE
WITH EACH OTHER. JUST SETUP A TIME THAT EACH WILL GO TO THEIR MODE,
TALK OR LISTEN, AND SEND PESSAGES OVER THE LINK, POSSIBLE COMMAND

SEQUENCES ARE.
R M=LIS/NOST R M=TA/NOST
LIS> TLK>

7.3 EXAMPLES OF COMMANDS

THIS SECTION WILL SHOW A SAMPL ING OF COMMANDS AND
EXACTLY WHAT TO EXPECT FROM THEM.

7.3.1 EXAMPLES OF MESSAGES COMMANDS
THE CLEAR COMMANDS .

C E
5 ¥

THIS WILL INITIALIZE THE TRANSMIT AND EXPECT LIST
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TO 1 MESSAGE OF 58 BYTES. THE DATA OF THE MESSAGE WILL
BE THE ITEP MESSAGE.

IF THESESE'UEHMDS ARE FOLLOWED BY A SHOW COMMAND
SUCH AS THE SHOW EXPECT LIST., WHAT YOU WOULD SEE IS
MSG: TYPE=ITEP/SIZE=58
MODE=ACTIVE/PASS=00001
/NOSTATUS/ CHE CK/NOE CHO/NOMODEM
DCLT> (A) ?

NOw IF YOU DID A SET EXPECT LIST COMMAND SUCH AS:
SE E=A/S=35/(=3
AND FOLLOWED IT WITH A SHOW EXPECT LIST COMMAND

SH E
WHAT YOU WOULD SEE IS

MSG: TYPE=ALPHA/S]ZE=35

MSG: TYPE=ALPHA/SIZE=35

MSG: TYPE=ALPHA/SIZE=35

MSG: TYPE=ALPHA/SIZE=35

MODE =AC T I VE/PASS=00001
/NOSTATUS/ CHE CK/NOE CHO/NOMODEM

DCLT> (A) ?

7.3.2 EXAMPLES STATISTICAL COMMANDS
IF YOU TYPE A HELP COMMMAND

HELP
WHAT YOU WILL SEE IS
DCLT CMDS:
CLEAR OR SHOW EXPECTLIST OR TRANSMITLIST
PRINT
EXIT
DUMP START=-END/B
SET EXPECTMSG OR TRANSM]TMSG=TYPE/SIZE=N OR /COPY=N
SET EXPECT=TRANSMIT
TYPE=ONES, ZEROES, 1ALT ,OALT, ITEP, CCITT ALPHA
OR 'DPR SPCD=A-Z,SP,TA8,0-9 IN QUOTES''
RUN MODE =MTYP/LOOP=LTYP/CHECK ,STATUS ,E CHO,MODEM, PASS=N
MTYP=TRAN,REC ,ACT,PAS, TAL,L1S,DOWN
LTYP=INT,CAB,LOC ,REM/

DCLT> (A) ?
THE SAME WILL HAPPEN [F YOU USE THE ?
THE DUMP COMMAND WORKS LIKE THIS

DUM 41260-41300

THIS WILL DUMP THE DATA FROM ADDRESSES 41260 TO
41300 IN THE FOLLOWING MANNER

— ———— —— ——— -

000167 177772 021122 012112 006312 006312 006312

SEQ 0032
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41260 023 211 167 000 372 377 122 024
41270 112 024 312 014 312 014 312 014
41300 312

7.3.3 EXAMPLES RUN COMMMANDS

YOU CAN FIND SEVERAL EXAMPLES OF THE RUN COMMMAND IN THE
TROUBLE SHOOTING HINTS SECTION BUT HERE ARE SOME OTHERS.

IF YOU WERE TO EXECUTE THE RUN COMMAND
R M=TR/NOST/CH/PAS=4
WHAT WOULD HAPPEN IS AFTER 4 PASSES THE PROGRAM WOULD RETURN
TO THE DCLT PROMPT AND PRINT
MODE =TRANSMI T/PASS=00000
/NOSTATUS/ CHE CK/NOE CHO/NOMODEM
DCLT> (A) ?

IF YOU HERE TO EXECUTE THE RUN COMMAND

(]
R M=A/L0=1/ST/CH/PAS=3
WHAT YOU WOULD SEE (IF USING DEFAULT TRANSMIT AND EXPECT
MESSAGES) IS
INI RXQ TXQ TXC CMP EOP RXQ TXQ
TXC CMP FOP RXQ TXQ TXC CMP EOP
MODE =ACTIVE/LOOP=INTERNAL /PASS=0000
/STATUS/ CHE CK/NOE CHO/NOMODEM
DCLT> (A) ?

IF YOU gﬁ'ﬂf EXIT COMMAND
WHAT YOU WOULD SEE IS
C2CLK EOP
0 CUMLATIVE ERRORS

DPR>
7.3.4 EXAMPLES PRINT COMMANDS
THE PRINT COMMMAND (AN BE USED FROM THE SUPERVISOR (DR>)
LEVEL OR THE DCLT (DCLT>) LEVEL. ONCE YOU ARE AT THE
REPORT LEVEL YOU WILL KNOW IT BY THE PROMPT ‘RPT>'',
AFTER TYPING PRI FOR EITHER THE THE DLCT> OR DR> THE
FOLLOWING IS DISPLAYED.

TYPE W' OR """ FOR HELP!
RPT> (A) ?

HERE ARE SOME EXAMPLES OF RPT> LEVEL COMMANDS:
THE HELP OR ? COMMAND

HELP
o ?

PRODUCES THE FOLLOWING:

SEQ 0033
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DCLT REPORT CMDS:

LOG = PRINT DCLT EVENT LOG
EXIT = EXIT REPORT LEVEL
HELP = PRINT THIS MESSAGE

RPT> (A) ? LOG
THE LOG COMMAND PRODUCES THE FOLLOWING

>>> DCLT EVENT LOG ENTRY >3333333333333333333333333>33>>>
0:01:16 RECEIVE SPACE QUEUED
ADDR OF MSG=000455 BYTE COUNT= 512
MODEM STATUS: CBS D?R DSD Rés R% S?D T?
»>> DCLT EVENT LOG ENTRY >3333333333333333333333333333>>
0:01:16 RECEIVE SPACE QUEUED
ADDR OF MSG=000455 BYTE COUNT= 512
MODEM STATUS: Cés D?R DSD Rés R{ S?D TT

L
L

THIS GOES ON FOR 45 EVENTS IF THE MODE
PREVIOUSLY EXELUTED HAD THAT MANY

YOU EXIT FROM EVENT LOG PRINTING BY
TYPING A CONTROL C.

TO LEAVE THE REPORT LEVEL INPUT THE "EXIT'" COMMAND.

7.3.5 EXAMPLE EXIT COMMAND
THE EXIT COMMAND WORKS LIKE THIS. IF YOU
ENTERED THE REPORT LEVEL FROM THE SUPERVISOR
(DR>) THEN TYPING

EXIT
WILL RETURN YOU TO THE SUPERVISOR.

DR>

IF YOU ENTERED REPORT FROM THE DCLT LEVEL
THEN TYPING

ExIT
WILL RETURN YOU TO THE DCLT LEVEL.
DCLT>

7.4 THINGS TO WATCH OUT FOR

SEQ 0034
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IF_YOU ARE RUNNING DCLT ON SYSTEMS THAT HAVE CONSOLES
WITH DIFFERENT SPEEDS YOU WILL BE UNABLE TO USE THE
PRINT STATUS FEATURE IN CERTAIN MODES. THE RULE IS

IF IT DOESNT WORK WITH STATUS PRINTING RUN THE MODE
WITH NOSTATUS.

IF YOU ARE USING PASSIVE MODE WITH THE ECHO SWITCH
THEN YOU WILL PROBABLY HAVE TO RE-ENTER THE TRANSMIT
LIST ON THE SIDE WITH THE ECHO SWITCH. THE REASON IS
THAT THE TRANSMIT LIST GETS OVER WRITTEN WITH THE
RECEIVE LIST WHEN USING THE ECHO SWITCH.

BEWARE THAT THIS DCLT WILL NOT RUN THE DPV11 AT [TS
HIGH CLOCK SPEED OF SOKHMZ SINCE THE SOF TWARE IS NOT
ABLE TO KEEP UP WITH THIS SPEED.
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4016

4017

40'8

«019

2(0)%8 .SBTTL PROGRAM HEADER
4051 002000 BGNMOD

4083 14
4084 : THE PROGRAM HEADER IS THE INTERFACE BETWEEN
26“62 : THE DIAGNOSTIC PROGRAM AND THE SUPERVISOR.

4088 002000 POINTER BGNRPT ,BGNAU,BGNDU

4116 002000 HEADER (V(LH,B,0,1800.,0,#PRI07

(4) 002000 L SNAME : :

/C/
N/

.

HiH
e 8 538 &R 8883z

SN — <2OCN

LSREV::

LSDEPO: :
LSUNIT::
LSTIML::
LSHPCP: :
LSSPCP::

(5) 0020
(4) 0020
(5) 0020
(4) 002014
(5) 002016
(4) 002016
(5) 002020
(4) 002020
(5) 002022 LSHPTIP: :
(4) 002022

(5) LSSPTP: :
(4)

(5) 002026 LSLADP: :

(4) oozogg 035624
(5) 0020 LS$STA::

(4) 002030 000000

(5) 0020 L$CO::
(4) 0020 000000

(5) 002034 LSDTYP: :

1
1
1
(4) 0020}
1
1

..

§553885§5
;

LSLAST
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(&) 002034 000000 .WORD O

(S) 002036 LSAPT: :

(4) 002036 000000 WORD O

(5) 002040 LSDTP: :

(4) 002040 002124 WORD LSDISPATCH
(5) 002042 LSPRIO: :

(&) 002042 000340 .WORD #PRI07
(5) 002044 LSENV]::

(4> 002044 000000 MWORD O

(5) 002046 LSEXP1::

(4) 002046 000000 LWORD O

(5) 002050 LSMREV: :

(&) 002050 003 .BYTE CSREVISION
(3) 002051 003 .BYTE CSEDIT
(5) 002052 ‘ LSEF::

4) 002052 000000 LWORD O

(5) 002054 000000 WORD O

(5) 002056 LSSPC::

(4) 002056 000000 LMWORD O

(5) 002060 LSDEVP: :

(4) 002060 011474 LWORD LSDVTYP
(5) 002062 LSREPP: :

(&) 002062 024156 .WORD LSRPT
(5) 002064 LSEXPS: :

(&) 002064 000000 WORD O

(5) 002066 LSEXPS::

(&) 002066 000000 WORD O

(5) 002070 LSAUT::

(&) 002070 025064 .WORD LSAU
(5) 002072 LSDUT::

(4) 002072 025056 .WORD LSDU
(5) 002074 LSLUN::

(&) 002074 000000 WORD O

(5) 002076 LSDESP::

(4) 002076 011504 WORD LSDESC
(5) 002100 LSLOAD: :

(4) 002100 104035 EMT ESLOAD
(5) 002102 LSETP::

(4) %102 000000 WORD O

(5) 2104 LSICP::

(4) 002104 024172 WORD LSINIT
(5) 002106 LSCCP::

(4) 002:06 025034 WORD LSCLEAN
(5) 118 LSACP::

(4) 110 025032 WORD LSAUTO
(5) 113 LSPRT::

%) 112 024164 .WORD LSPROT
(5) 114 LSTEST::

%) 114 000000 LMWORD O

(5) 116 LSDLY::

(%) 116 000000 WORD O

(5 %slgg LSHIME : :

(4) 1 000000 WORD O

117
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41
&0

ng%
41
413

6134
4135
4136
(&)
(3)
(6)
6137

122
122 000001
124
002124 025072

m3
MACY11 30A(1052) 16=JUN=81 10:00 PAGE 12-16 SEQ 0038
DISPATCH TABLE

.SBTTL DISPAT(H TABLE

3 *9

; THE DISPATCH TABLE CONTAINS THE STARTING ADDRESS OF EACH TEST.
s IT 1S USED BY THE SUPERVISOR TO DISPATCH TO EACH TEST.

DISPATCH 1

.WORD
LSDISPAT(CH: :
WORD T1
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6145
4146
4147
4148
4149
4150
6151
4152
4153
4154
(3
(3)
(3)
4155
4165
L166
6167
4168
4169
4170
47
4172
4173
4186
4187
4188
4189
4190
4191
419
419
4194
4195
4£196
4197
4198
4199
4200
(3

8283
SRR

RRRIRER

38 &ERISERK

&

15-JUN=-81 15:48

000010

000001"  ~

’ N 3
MACY11 DA(1052) 16=JUN=B1 10:00 PAGE 12-17 SEQ 0039
DEFAULT FARDWARE P-TABLE
.SBTTL ©EFAULT HARDWARE P-~TABLE
s .
: THE DEFAULT HARDWARE P-TABLE CONTAINS DEFAULT VALUES OF
: THE TEST=DEVICE PARAMETERS. THE STRUCTURE OF THIS TABLE
: IS IDENTICAL TO THE STRUCTURE OF THE HARDWARE P-TABLES,
3 AND 1S USED AS A '"'TEMPLATE'' FOR BUILDING THE P-TABLES.
BGNHW  DFPTBL
LWORD  L10000-L$HW/2
LSHW: :
DFPTIBL::
: INDEPENDENT SECTION
H THE NUMBERS IN BRACKETS ARE THE OFFSET VALUES USED IN THE PARAMETER
H CODING SECTION.
.WORD 1 :[0) FULL OR HALF DUPLEX FLAG (BITO=1 IF FuULL)

ADDING OR REMOVING WORDS FROM THIS TABLE EFFECTS THE "'GET'' CALLS IN

:DEVICE DEPENDENT SECTION
; THE HARDWARE PARAMTER CODING SECTION BY CHANGING ‘OFFSETS''

.WORD 160170 (2 CSR ADDRESS
: . WORD 300 H INTERRUPT VECTOR
. WORD 240 3 6 INTERRUPT PRIORITY (5)
LWORD O : 1g SPARE
WORD O :0 g !
WORD O 014 OT'ER NODE ‘‘ITEP*’
.WORD O :[16] SPARE
ENDHW

L10000:




B 4
CVCLHB DPV=11 DATA COMM. LINK TEST MACY11 30A(1052) 16-JUN-81 10:00 PAGE 12-18 SEQ 0040

CVCLHB.P11 15-JUN-81 15:48 DEFAULT HARDWARE P-TABLE
4202
4203
4220
4243
4244 .SBTTL GLOBAL EQUATES SECTION
4245
4246
4256
4257
4258 ;e
4259 : THE GLOBAL EQUATES SECTION CONTAINS PROGRAM EQUATES THAT
4260 ; ARE USED IN MORE THAN ONE TEST.
4261 ;-
4262
4277
L%?? 002150 EQUALS
g}; BIT DIFINITIONS
(1) 100000 BIT15== 100000
(1) 040000 BIT14== 40000
(1) 020000 BIT13== 20000
(1) C10000 BIT12== 10000
(1N 004000 BIT11== 4000
(1) 002000 BIT10== 2000
(1) 001000 BIT09== 1000
g P 000400 BIT08== 400
(1) 000200 BITO7== 200
(1) 000100 BITO6== 100
(1 000040 BITO5== 40
(1 000020 BITO4== 20
(1) 000010 BIT03== 10
(1) C00004 BITO2== &
(1 000002 BITO1== 2
g}; 000001 BITOO0== 1
(1) 001000 BIT9== BIT09
(1) 000400 BIT8== BIT08
(1) 000200 BIT7== BITQ7
(1) 000100 BIT6== BIT06
(1) 000040 BIT5== BITOS5
(n 000020 BIT4== BITO04
(1) : 000010 BIT3== BIT03 .
(1) . 000004 BIT2== BIT02
(1) 000002 BIT1== BITO01
2}; 000001 BITO== BITO0
(1) ; EVENT FLAG _DEFINITIONS
2}; ;  EF32:EF17 RESERVED FOR SUPERVISOR TO PROGRAM COMMUNICATION
(1 000040 EF .START== 32. ; START COMMAND WAS ISSUED
(1) 000037 FF .RESTART== 31. : RESTART COMMAND WAS ISSUED
(1) 000036 EF .CONTINUVE==  30. ; CONTINUE COMMAND WAS [SSUED
(1 000035 EF .NEW== 29. : A NEW PASS HAS BEEN STARTED
g}; 000034 EF .PWR== 28. ; A POWER-FAIL/POWER-UP OCCURRED
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(1) H
ﬁ}; : PRIORITY LEVEL DEFINITIONS. .
1) 000340 PRI07== 340
(1) 000300 PRI06== 300
(1) 000240 PRI0OS== 240
&) 000200 PRI04== 200
(1) 000140 PRI03== 140
(1) 000100 PRI02== 100
(1) 000040 PRIOT== 40
2}; 000000 PRI00== 0
g}; :OPERATOR FLAG BITS
(1) 000004 EvlL== 4
) 000010 LOT== 10
(1) 000020 ADR== 20
(1) 000040 IDU== 40
(1) 000100 ISR== 100
(1) 000200 == 200
(1) 000400 BOE== 400
(1) 001000 PNT== 1000
&) 02000 PR]== 2000
1) 004000 IXE== 4000
(1) 010000 IBE== 10000
(1) 020000 1ER== 20000
(1) 040000 LOE== 40000
- 5 173; 100000 HOE== 100000




CvCLHB DPV=11 DATA COMM, LINK TEST
15-JUN=-81 15:48

CvCLHB.PT

4281
4282
4283
4284
4285
4286
4287
4288
4289
4290
4291
4292
4293
4294
4295
4296
4297
4298
4299
4300
4301
4302
4303
4304 -
4305
4306
4307
4308
4309
4310
4311
4312
4313
4314
4315
4316
4317
4318
4319

001000
000017

000100
000111
001600

000001

000010
000020
000040

MACY11 30A(1052)
GLOBAL EQUATES SECTION

D 4
16-JUN-81 10:00 PAGE 12-20

;wxxxx INDFPENDENT EQUATES

BUFLIM=512.
MSGL IM=15.

;MAX BUFFER SIZE IN BYTES

; APPLIES TO TX,RX AND CMP BUFFS
:MAX NO. OF MESSAGES PER BUFFER

; (FOR EACH INCREMENT (+1) TO MSGLIM,
; ADD 6 WORDS TO THE POINTER TABLE
: (PTRTAB:) SINCE THIS MEANS 2 MORE
;  '"POINTER'' WORDS PER BUFFER.

;MCDE OF OPERATION EQUATES

REC=0
TRA=1
PAS=2
ACT=3
DOW=4
TAL 5

S=6
sMAINT LOOPETYPE EQUATES

TTL=
CABLE=
MODLOC=
MODREM=
MOP=

wviHWh—=0O

JRECEIVE MODE

s TRANSMIT MODE
;PASSIVE MODE
sACTIVE MODE

;DOWN=L INE-LOAD MODE
s TALK MODE

sLISTEN MODE

:NO LOOP

s INTERNAL TTL
: CABLE LOOP
sMODEM LOCAL
;MODEM REMOTE

;CLOCK ENABLE VALUES TO BE LOADED IN CLK'S CSR

LCLKEN= 100
PCLKEN= 111
PCLKCT= 1600

;PARAM WORD EQUATES

STATB= BITO
DATCKB= BIT1
ECHOB= BIT?2
MOCHK= BIT3
CRCB= BIT4
PROTOB= BITS

;OPTION TYPE EQUATES

DPV= 0

L=CLOCK CSR VALUE TO ENABLE THE CLOCK
:P-CLOCK CSR VALUE TO ENABLE THE CLOCK
:P=CLOCK COUNT SET REGISTER FOR COUNTER

;OPERATOR AWAKE ASKED FOR
;DATA CHECK BIT

;ECHO BIT

sMODEM STATUS CHECK BIT

sCRC CALCUALTE ASKED FOR
sPROTOCOL PROCESSING ASKED FOR

;:CODE FOR DPV CHAR MODE

;EVENT LOG MESSAGE TYPES (USED TO LOCATE EVENT DESCRIPTION IN EVENT TABLE
AND DISPATCHING TO SEPERATE SECTIONS OF THE EVENT REPORTING SECTION)

TXQ=
TX(C=
RXQ=
RX(C=
DER=
DVi=
DCK=

— e B NSO O
SO

;TRANSMIT MESSAGE QUEUED
:TRANSMIT COMPLETE
;RECEIVE BUFFER QUEUFD
;RECEIVE COMPLETE
;DEVICE INFORMATION
;DEVICE ABOUT TO INIT
;DATA COMPARISON RESULTS

SEQ 0042



E &
CvCLHB DP.=11 DATA COMM. LINK TEST MACY11 30A(1052) 16-JUN-81 10:00 PAGE 12-21 SEQ 0043
CvCLHB.P11 15-JUN-81 15:48 GLOBAL EQUATES SECTICN

“:%gg 000016 MSC= 16 sMODEM STATUS CHANGE

4358 000020 DLE= 20 ;DATA COMPARISON LENGH ERROR
4359 000022 DDE= 22 ;DATA COMPARISON DATA ERROR
2%2(1) 000024 EOP= 24 ;END OF PASS

2332% ;EQUATES FOR FLAG WORD

4364 000001 ININT= BITO : INPUT INT. REC.

4365 000002 OTINT= BIT! ;OUTPUT INT REC

4366 000004 QRX= BIT? sRX QUED /COMPL

6367 000010 QTX= BIT3 : TX QUED/COMPL

4368 000100 ERX= BIT6 sEXPECT TO GET A RX COMPLED
23393 000200 ETX= BIT7 JEXPECT TO GET A TX COMPLETED
4381

4382 000020 TXM= BITS ;INDICATES TO TX INTERRUPT ROUTINE
4383 sTHAT IT IS TIME TO TRANSMIT BODY OF MSG.
4384 000040 RXM= BiT5 s INDICATES TO RX INTERUPPT ROUTINE
4385 sTHAT T IS TIME TO REC MSG BODY
2%3(73 000400 BCC= BIT8 ;TIME FOR CRC CHECK.

23333 01000 PAD= BITY ;INDICATES THAT PAD MUST BE SENT
z%g(’) 002000 INOVR= BIT10 s INIT OVER

2%3% 004000 FIRST= BITN ;FIRST TIME FOR (TS

4394 ; SPECIAL CLI CODES FOR ''CHAR'® ARGUMENT IN CLI CALLS

4395 ; (COMMAND LINE INTERPRETER DEFINITIONS)

4396 000000 CLIERR= 0

4397 000001 CLIEXI= 1

4398 000002 CLIBR= %

4399 000003 CLIBIF=

4400 000004 CLISPA= &

460 000005 CLINUM= 5

4402 000006 CLIALP= 6

4403 000007 CLIALN= 7

44604 000010 CLIOCT= 8.

4405 000011 CLIDEC= 9.

2289 000012 CLISTR= 10.

4408 ; DEFS FOR COMMAND LINE INTERPRETATION ACTION VALUES

4409 000000 NULL=0

44610 000001 CLEAR=1

4aM 00000 SHOW=2

44612 00000 CHECK=3

4413 000004 RUN=4

44614 000005 HLP=5

44615 000006 CSHEXP=6

4416 000007 CSHTRN=7

4417 000010 SETEXP=10

4418 000011 SETTRN=11

4419 OOOO1§ SIZE=12

4420 00001 QCOPY=13

4421 000014 NUM=14




%
|
|
I

CvCLHB DPV=11 DATA COHH.SngK TEST

CvCLHB.P1Y 15=JUN-81 1
6422 00001%
6423 000016
6426 000017
6425 000020
L4626 000021
6427 00002
6428 00002
6429 000024
4430 000025
4431 000026
4432 000027
4433 000030
6434 000031
4435 000032
4436 000033
4437 000034
4438 000035
4439 000036
4440 000037
4441 000040
44642 000041
4443 000042
4466 000043
4445 000044
L4646 000045
4447 000046
4448 000047
4449 000050
4450 000051
4451 000052
4452 000053
4453 000054
Gaha 000055
4455 000056
44656 000057
44657 000060
4458
4459 000001
4460 00000
4461 00000
4473
W74
G475
4676
477
4478
4479 020000
4480 001000
4487 010000
4682 000004
4483 040000
4484 000040
4485 000040
448¢
4494

44695

MACY11 30A(1052)
GLOBAL EQUATES SECTICN

S S, 8,8,

OPRMSG=15
STATUS=16
ENDQO=17
(MSGO=20
(MSG1=21
(MSG2=2
(MSG3=2
CMSG4=24
CMSG5=25
CMSG6=26
ATVMOD=27
PASMOD=30
RECMOD=31
L 1SMOD=32
DLLMOD=33
TRAMOD =34
TALMOD=35
NO=36
ECHO=37
CRC=40
PROTO=41
PASC=42
MOP=43
TTLLOP=44
CBLLOP=45
LMDLOP=46
RMDLOP=47
NOTNUF =50
BADCHR=51
DMPS=52
DMPE=53
DMPQ=54
PRNT=55
MOSC=56
EXIT=57
SETET=60

RPLOGS

F
16=JUN=-81

4
10:00 PAGE 12-22

JREV B

BY EC
;REV B BY EC(
FOLLOUIHgHEQU?TES USED IN REPORT (L

I ; REV B EC

;eenss DEVICE DEPENDENT EQUATES
HODEH SIGNAL BIT DEFINITONS

IF SIGNAL AVAILABLE 6N DEVICE, EQUATE NAME TO BIT POSITION,

ELSE EQUATE IT TO =
(TS= BIT13
DSR= BIT9

DCD= BIT12
RTS= BIT?2

Rl= BIT14
SQD= BITS

™™= BITS

;CLEAR TO SEND (CIRCUIT (B)

:DATA SET READY (CIRCUIT CC)

:DATA CARRIER DETECT (CIRCUIT CF)

:REQUEST TO SEND (CIRCUIT CA)

:RING INDICATOR (CIRCUIT CE)

sSIGNAL QUALITY DETECT (CIRCUIT CG)

:MODEM IN TEST MODE (RS 449 ONLY CIRCUIT TM)

SEQ 0044
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G 4
CVCLHB DPV=11 DATA (OMM, LINK TEST MACY11 30A(1052) 16=JUN-81 10:00 PAGE 12-23 SEQ 0045
- CvCLMB. P 15=JUN=-81 15:48 GLOBAL EQUATES SECTICN

4496 : DEVICE SIGNALS
4497 000002 DTR=  BITI :DATA TERMINAL READY
| 4498 000020 RXENA= BIT4 RECEIVER ENABLE
L 4L99 000040 DSITEN= BITS DATA SET CHANGE ENABLE
4500 000100 RINTEN= BIT6 REC INT. ENABLE
| 4501 000200 RDATRY= BIT7 *REC DATA READY
4502 002000 RSTARY= BIT10 *REC STATUS READY
4503 004000 RXACT= BIT11 *REC ACTIVE
4504 000001 RESET= BITO MASTER RESET
4505 000002 TXACT= BITI *TX ACTIVE
4506 000004 TRMF=  BIT2 *TX BUFFER EMPTY
4507 000010 TTLL=  BIT3 *TTL LOOP BIT
4508 000020 TXENA= BITé :TX ENABLE
4509 000100 | TINTEN= BIT6 STX INT ENABLE
4510 000400 TSoM= BIT8 *TX START OF MSG.
4511 001000 TEOM=  BIT9 :TX END OF MSG.
4512 100000 TERR= BIT1S ;s TX ERROR
4513 100000 RERR=  BIT15 *REC OVER RUN
4514 000226 SYN- 226 *SYNC WORD

4515




; H &
' CVCLHB DPv=11 DATA (OMM, LINK TEST MACY11 30A(1052) 16=JUN-81 10:00 PAGE 12=24 SEQ 0046
; CvCLHB.P1T 15<JUN-81 15:48 GLOBAL DATA SECTION

P &S17 .SBTTL GLOBAL DATA SECTION
, 2%12 LSBTTL DEFAULT MESSAGE DEFINITIONS AND TABLES
. 4520 14
6521 : THE GLOBAL DATA SECTION CONTAINS DATA THAT ARE USED
6522 ; IN MORE THAN ONF TEST.
4523 2.
6524
2252 ;MESSAGE BYTE COUNT TABLE
4527 002150 DMSGCT:
4528 002150 000001 MSGOC: .WORD  EMSGO-MSGO :BYTE COUNT OF MESSAGE #0
4529 002152 000001 MSGIC: .WORD EMSG1-MSG1 :BYTE COUNT OF MESSAGE #1
4530 002154 000001 HSG%C: .WORD  EMSG2-MS BYTE COUNT OF MESSAGE #?2
4531 002156 000001 MSG3C: .WORD EMSG3-MSG BVTE COUNT OF MESSAGE #3
4532 002160 000100 MSG4C: .WORD  EMSG4-MSG4 BYTE COUNT OF MESSAGE #4
4533 002162 000072 MSGS5C: .WORD  EMSGS5-MSGS .BYTE COUNT OF MESSAGE #5
4534 002164 000101 MSG6C: .WORD EMSG6-MSG6 ;BYTE COUNT OF MESSAGE #6
4535 002166 000000 OPCNT: .WCRD 0 :BYTE COUNT FOR OPERATOR SPEC'D MSG.
22%‘} 002170 000001 MSGBC: .WORD EMSG8-MSG8 :BYTE COUNT OF RECEIVE BUFFER FILL PATTERN
:ggg :MESSAGE ADDRESS TABLE
4540 002172 DMSGAD :
4541 002172 002214 MSGO ;ADDRESS OF MESSAGE #0
4542 002174 002215 MSG1 ;ADDRESS OF MESSAGE #1
454% 002176 002216 MSG2 ;ADDRESS OF MESSAGE #2
4544 002200 002217 MSG3 ;ADDRESS OF MESSAGE #3
4545 002202 002220 MSG4 ;ADDRESS OF MESSAGE #4
4546 002204 002320 MSG5S ;ADDRESS OF MESSAGE #5
4547 002206 002412 MSG6 ;ADDRESS OF MESSAGE #6
4548 002210 002520 OPBUF :ADDRESS OF OPERATOR SPEC'D MSG.
22‘53 002212 002642 MSG8 ;ADDRESS OF RECEIVE BUFFER FILL PATTERN
4551 002214 000 MSGO: .BYTE 00C JMESSAGE OF ALL 0°'S
4552 002215 EMSGO:
4553 002215 377 MSGT1: BYTE 377 JMESSAGE OF ALL 1°'S
4554 002216 EMSGY:
4555 002216 252 MSG2: .BYTE 252 JMESSAGE OF ALTERNATING 1°'S
4556 002217 EMSG2:
4557 002217 125 MSG3: .BYTE 125 JMESSAGE OF ALTERNATING 0°'S
4558 002220 EMSG3:
4559 Py MSG4: CCITT'" S512-BIT (vS. S11 BITS) TEST PATTERN
4560 002220 177%3 157427 031011 LMWORD 177603,157427, 03*011 047321,163715, 105221 143325,142304
0022 047321 163715 105221
6“63% 143325 142304
4561 40 0‘0?‘1 014N 05 JWORD  040041,014116,052606,172334,105025,123754,111337,111523
002246 172 105 123754
002254 111337 111523
4562 002260 0300 145064 1%76‘; WORD 030030,145064,137642,143531,063617,135075,066730,026575
002266 143531 063617 13507
002274 % 8;6575
4563 201 3627 070071 JWORD  052012,053627,070071,151172,165044,031605,166632,016741
002306 151172 165044 031605
002314 1666 016741

4564 002320 EMSG4 :




—
|
|
|
i

6565
6566
4567

4568

4569
4570
457N

CvCLHB.P1Y

15=JUN-81 15:48

SRRRRRS
§_.U'lﬂ\-ﬂ
SERERNESY

05510

002644

— Y

040445

CVCLMB DPVv=11 DATA COMM, LINK TEST

031462
034470
037476
042504
045512
050520
053526

057135

1 &
MACY11 30A(1052) 16=JUN=81 10:00 PAGE 12-25
DEFAULT MESSAGE DEFINITIONS AND TABLES

MSG5: ;" INTERPROCESSOR TEST PROGRAM'S (ITEP)"" MESSAGE

: #1, (DP1:)
ASCII  <177><177>/$A THE QUICK BROWN FOX JUMPED OVER THE LAZY DOG./

ASCIZ  <15><12><001><177><177><177><177>

EMSGS:

MSG6 : °AI§PHAMRICS (OR FUTURE COMM TURNAROUND MSG)
ASCIT /48! R' ()we,=.0123456789: ; <=>?ABCDEF GHI JKLMNOPQRS TUVWXYZ /
LASCIZ  2/[\1*_%?

EMSG6:

.EVEN

R 112223322 222222202 RdRRR R RRRRd Rl d])

:THESE THREE STORAGE AREAS MUST NOT BE SEPERATED !!!!

OPBFPT: ,ASCII /INXA/
OPBUF: .BLkB 82.
OPEND :

; THE ABOVE THREE LINES MUST BE KEPT TOGETHER

3 (2323223232333 3323 3323220222222 00220t RRddddRdRddddRdl il ddll )

MSG8: BYTE 33 :RECEIVE BUFFER FILL PATTERN
EMSGS8: o~

;BUFFER FOR OPERATOR SPEC'D MESSAGES

SEQ 0047
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| CVCLMB DPV=11 DATA COMM. LINK TEST  MACY11 30A(1052) 16=JUN=81 10:00 PAGE 1226 SEQ 0048
| CVCLMB.PY1 15=JUN-B1 15:48 DEFAULT MESSAGE DEFINITIONS AND TABLES

4590 R R T I T L R R T LN LA
459  THE FOLLWING 18" THE AREA’USED" 70" TRANSMIT AND REC THE :

633 : MEADER MSGS. AND THE START,STACK ACK SEQUENCES. :

459 002644 HDMSG: " BYTE D sFILLER

4595 002645 201 .BYTE 201 :SOH_CHAR

4596 002646 000000 - HDMCC: .WORD O :CHAR COUNT GOZS HERE

4597 002650 001 BYTE 1 :RESPONSE NUMBER

4508 002651 001 BYTE 1 :MSG. NUMBER

4599 00265 001 BYTE 1 :ADDR TO.

4600 00265 HSMSE :

4601 002654 EVEN

4602 00265 HDMC:  .WORD 6

460

«604 002656 000 RHDMSG: .BYTE 0

4605 002657 201 | .BYTE 201 :SOH GOES IN HERE

4606 002660 000000 RHDMCC: .WORD :BYTE COUNT GOES HERE

4607 00266¢ 001 BYTE 1 :RESP NUM

4608 00266 001 BYTE 1 :MSG_NUM

4609 0C2664 001 BYTE 1 :ADDR T0.

4610 002666 .EVEN




o mm———— e — = -—

1
|
1

A K &
. CVCLHB DPV=11 DATA COMM, LINK TEST MACY11 30A(1052) 16-JUN-81 10:00 PAGE 12-27 SEQ 0049

CvCLMHB. P11 15-JUN-B1 15:48 DEFAULT MESSAGE DEFINITIONS AND TABLES
‘:.2}2 :COMMAND LINE BUFFER, DATA LOCATIONS AND MESSAGES FOR ACTION ROUTINES
4615 00%866 000122 CMDBUF : .BLKB  82. ;:BUFFER FOR OPERATOR COMMANDS
4616 003010 000000 KEYWD1: .WORD O sTHIS LOC WILL =1 IF CLEAR TYPED, 2 FOR SHOW,
4617 A4 IF RUN WAS TYPED, 5 IF HELP WAS TYPED
4618 003012 000000 QUALFG: .WORD O “THIS LOC HOLDS QUALIFIER VALUE (SIZE OR COPY)
4619 003014 000000 QUALVL: .WORD O
4620 003016 0152«5 HLPTAB: .WORD HLP1
4621 005020 O1 gm LWORD HLP
4622 003022 015 72 WORD HLP
4623 003024 01246 WORD HLP3A
4624 003026 012510 WORD  HLP4
4625 003030 012567 JWORD  HLP4A
003032 012645 WORD  HLPS
4627 003034 012735 WORD HLP6
4628 003036 HLPEND :
4629 :INDEX TABLE FOR REPORT 'RPT>' MELP MESSAGES REV B EC
4630 003036 013072 RMLPTB: .WORD  RHLP1
4631 003040 013114 .WORD RHLP
4632 003042 013147 LWORD RHMLP
4633 003044 O1 LWORD  RHLPé
%%’5 003046 RHLPEN:
4636 003046 013266 013275 013302 SHTYTB: .WORD  SHTYPO,SHTYP1,SHTYP2,SHTYP3,SHTYP4,SHTYPS,SHTYPG,SHTYP?
003054 013307 013314 013322 ¢
a 003062 013327 013335 v
4638 ; THE LIST OF BYTES BELOW ARE THE FIRST BYTES OF THE PREDEF INED MESSAGES 5
2223 > USED TO ‘SHOW'' THE TRANSMIT AND COMPARE BUFFER CONTENTS. :
4641 003066 000 377 25; SHTAB: .BYTE 0,377.252.125.,203,177,043 :
003071 125 203 17
003074 043
4642 003075 SHTEND:
4643 003076 .EVEN
4645 003076 013346 MODES: .WORD MO0 :ADDRESSES OF MODE TYPEs IN ASCII
4646 003100 0133 .WORD MO1
4647 003102 01336 .WORD noi
4648 ooglos 13377 .WORD MO
4649 0031 mog LWORD  MO4
4650 oo;n mio .WORD MDS
ggt 0031 13 .WORD  MO6
4653 003114 013437 LOOPS: .WORD LPO ;ADDRESSES OF LOOP TYPES IN ASCII
4654 00311 13447 .WORD LP]
4655 0031 1 LWORD LP
l-bsg 003122 134;36 .WORD LP
gg‘ 0031 13501 WORD LP4
4659 ;COMMAND LINE TRAVERSE LOCATIONS (USED BY 'PSTRV'")
4661 0031 PSBUFA: .WORD :LOC. TO MOLD ADDR. OF CMD LINE BUFFER
l.esi 0031 PS$TREE: .WORD :LOC. TO HOLD ADDR, OF PARSING TREE
4663 0031 PSACT: .WORD :LOC. TO HOLD ADDR. OF ACTION ROUTINE
4664 0031 PSCNT: .WORD :LOC, TO BE A COUNTER LOCATION




CvCLHB DPV=11 DATA (Wisl.‘l.'ak TEST

CvCLHB.P11

4665

83

4668
4669

003136
00

3162
00314
00314

15-Jun-81

000000
000000
000
000

L &
MACY11 30A(1052) 16=JUN-81 10:00 PAGE 12-28
DEFAULT MESSAGE DEFINITIONS AND TABLES

PSNUM: _WORD 0 ;LOC. TO HOLD NUMERIC VALUE FROM PARSE
PSRADX: .WORD 8 :LOC. TO HOLD RADIX USED(LO) AND +/=(HI BYTE)
PSNNUF : .BYTE :RETURN =0 IF ENOUGH OF comwo F OUND
PSGDBD: .BYTE 0 JRETURN CODE O IF NO ERROR FOUND

SEQ 0050



—

4«67
467
467
4674
75
L676
L6677
4678
4679

4681

&

:

144
1464
005144
006144
006240
006334
006430

30

0064 34
006436
006440
006442

RS

:

CVCLHB DPV=11 DATA COH LINK TEST
CvCLHB.P1T 15:48

15=JUN-81

001000
001000
001000
000036
000036
000036

000002

M4
MACY11 30A(1052) 16=JUN-81 10:00 PAGE 12-29
MESSAGE BUFFERS AND POINTER TABLES

.SBTTL MESSAGE BUFFERS AND POINTER TABLES

TXBUF: .BLKB BUFLIM ;TRANSMITTER BUFFERS

RXBUF: .BLKB BUFLIM ;RECEIVER BUFFERS

CMPBUF : .BLKB BUFLIM _;rOMPARISON BUFFERS

PTRTAB: .BLKW  MSGLIM+ ;TABLE FOR MESSAGE ADDRS. & BYTE COUNTS
PTR13: .BLKW  MSGLIM+*

PTR23: .BLKW  MSGLIM+

PTREND : ; END OF MSG. PTR. TABLE

BLkW 2 ;FILLER FOR OVERFLOW OF RX POINTER TABLE
RXPTR: .WORD 0 sRECEIVER MESSAGE POINTER
TXPTR: .WORD 0 s TRANMITTER BUFFER POINTER
CMPPTR: .WORD 0 ;COMPARISON BUFFER POINTER
CMPTOT: .WORD O ;:CMP MSG TOTAL
CTOTCC: .WORD O : COMPARE BUFFER CHAR. COUNT
CCURAD: .WORD O :CURRENT ADDR OF CMP BUFF TO ADD AT
DVIXA: .WORD 0 ;DEVICE TX ADDR
DVICC: .WORD O ;DEVICE TX CHAR COUNT
DVICT: .WORD O ;DEVICE TX MESSAGE COUNT
TXMTOT: .,WORD O :TX MSG TOTAL
TTOTCC: .WORD - 0 :TX BUFFER CHAR. COUNT
TCURAD: ,WORD O ;CURRENT ADDR. OF TX BUFF TO ADD AT
DVRXA: .WORD O ;DEVICE RX ADDR
DVRCC: .WORD O ;DEVICE RX CHAR COUNT
DVRCT: .WORD O ;DEVICE RX MESSAGE COUNT
RXMTOT: .WORD O sRX MSG TOTAL
LNCNT: .WORD O sNUMBER OF OPERATOR AWAKE MSGS
OPVAR: .WORD 0 ;OPTTIONAL VARIABLE LOCATION
PSCNT: .WORD O ;PASS COUNTER
ERRCNT: .WORD O ;ERROR COUNTER
STADD: ,WORD O ;START ADDR.
ENADD: ,WORD O :END ADDR. FOR DUMP
BYTBIT: ,WORD O :BYTE BIT FOR DUMP ROUT INE

;OTHER MESSSAGE RELATED STORAGE LOCATIONS

MSGTYP: .WORD O :TYPE OF DATA 0=0'S,1=1'S,2=10'S,3=01"S
+4=CCITT,S 6u1cx FOX, @unwu.n 7=0PER

CURCC: .WORD ;TX/RX/CMP CHAR COUN

CPTRR: .WORD *CURRENT RX Poxmsu

(PTR:  .WORD *CURRENT POINTER

CURADD: .WORD *CURRENT TX/RX/CMP START ADDD

TOTCC: .WORD STOTAL CHAR COUNT NOT MORE THEN 'BUFLIM"

OFSET: .WORD “OFFSET COUNT

TEMP:  .WORD *TEMPORARY LOCATIONS (USED A LOT)

TEMP1: .WORD

TEMP2: .WORD

TEMPS: .WORD

TEMPSL: .WORD

TEMPS: _WORD

CONOTM: .WORD :CONTROL OUT ERROR M5G. ADDRESS

SEQ 0051




CvCLHB DPV=11
Cv<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>